CONTRACT FOR MEDICAL SUPPLIES

THIS CONTRACT entered into this 24th day of March , 2014, by and between the BOARD OF COUNTY COMMISSIONERS OF NASSAU COUNTY, FLORIDA, a political subdivision of the State of Florida, hereinafter referred to as "County", and HENRY SCHEIN INC, P.O. Box 13227, 140 Crouch Commercial Court, Irmo, SC 29063, hereinafter referred to as "Vendor".

WHEREAS, the Board of County Commissioners of Nassau County, Florida opened sealed bids for Medical Supplies, Bid Number NC13-040, on September 26, 2013 at 10:00 a.m.; and

WHEREAS, the Fire Rescue Department determined that Henry Schein Inc was the lowest, most responsive and responsible bidder for the bid items as set forth in Exhibit "A"; and

NOW, THEREFORE, in consideration of the terms and conditions herein set forth, the County and the Vendor agree as follows:

SECTION 1. Description of Services to be Provided

The County does hereby retain the Vendor to furnish materials or services as further described in the Scope of Services attached hereto as Exhibit "B" and made a part hereof. Required materials and service shall be specifically enumerated, described and depicted in the Purchase orders authorizing performance of the specific task. This Contract standing alone does not authorize the performance of any work or require the County to place any orders for work.

SECTION 2. Receiving/Payment/Invoicing

No payment will be made for materials ordered without proper purchase order authorization. The County shall pay the vendor within forty-five (45) calendar days of receipt of invoice, pursuant to and in accordance with the promulgations set forth by the State of Florida's Prompt Payment Act. (Florida Statutes Section 218.70). Payment shall not be made until materials, goods or services have been received, inspected and accepted by the County in the quality and quantity ordered. Payment will be accomplished by submission of an invoice, in duplicate, with the Purchase Order number referenced thereon and mailed to the address set forth in the Purchase Order. Payment in advance of receipt of goods or services by Nassau County cannot be made.

The invoice submitted shall be in sufficient detail as to item, quantity and price in order for the County to verify compliance with the awarded bid.

SECTION 3. Acceptance of Goods/Services

Receipt of goods/services shall <u>not</u> constitute acceptance. Final acceptance and authorization of payment shall be given only after a thorough inspection indicates that the product/performance meets bid specifications and conditions. Should the products/services differ in any respect from specifications, payment will be withheld until such time as the supplier takes necessary corrective action. If the proposed corrective action is not acceptable to the County, the County Manager's Office may authorize the recipient to refuse final acceptance of the goods/services. Should a representative of the County agree to accept the goods/services on condition that the Vendor will correct his performance within a stipulated time period, then payment will be withheld until the services are performed as specified.

SECTION 4. Inspection/Acceptance Title

Inspection and acceptance will be at destination unless otherwise stipulated. Title and risk of loss or damage to all items shall be the responsibility of the Vendor until accepted by the using department of Nassau County, unless loss or damage results from negligence by Nassau County or it's using Department.

SECTION 5. Firm Prices

Prices for goods and services covered in the specifications shall be firm; net delivered to the ordering agency, **F.O.B. DESTINATION**, vendor paying all delivery costs and shall remain firm for the period of this Contract. No additional fees or charges shall be accepted.

SECTION 6. Fund Availability

This Contract is deemed effective only to the extent that appropriations are available. Pursuant to Florida Statutes all appropriations lapse at the end of the Fiscal Year. Multi-year awards shall be adequately funded but the County reserves the right not to appropriate for an ongoing procurement if it is deemed in its best interest.

SECTION 7. Permits/Licenses/Fees

Any permits, licenses or fees required for this service will be the responsibility of the Vendor unless otherwise stated.

SECTION 8. Taxes

The County is tax exempt. As such, the County will not pay any Federal Excise or State of Florida Sales Tax. The Vendor will refrain from including taxes in any billing.

SECTION 9. Laws Governing this Contract

This Contract shall be consistent with, and be governed by, the Ordinances of Nassau County, the whole law of the State of Florida, both procedural and substantive, and applicable federal statutes, rules and regulations. Any and all litigation arising under this Contract shall be brought in Nassau County, Florida.

SECTION 10. Changes

The County reserves the right to order, in writing, changes in the work within the scope of the contract, such as change in quantity or delivery schedule. The Vendor has the right to request an equitable price adjustment in cases where changes to the contract under the authority of this clause result in increased costs to the Vendor.

SECTION 11. Modifications

In addition to modifications made under the changes clause, this Contract may be modified within the scope of the contract upon the written and mutual consent of both parties, and approval by appropriate legal bodies in the County.

SECTION 12. Assignment & Subcontracting

The Vendor will not be permitted to assign its contract with the County, or to subcontract any of the work requirements to be performed without obtaining prior written approval by the County.

SECTION 13. Severability

If any section, subsection, sentence, clause, phrase, or portion of this Contract is, for any reason, held invalid, unconstitutional, or unenforceable by any Court of Competent Jurisdiction, such portion shall be deemed as a separate, distinct, and independent provision, and such holding shall not affect the validity of the remaining portions thereof.

SECTION 14. Termination for Default

The performance of the Contract may be terminated by the County in accordance with this clause, in whole or in part, in writing, whenever the County shall determine that the Vendor has failed to meet performance requirement(s) of the Contract.

SECTION 15. Termination for Convenience

The County reserves the right to terminate the Contract in whole or part by giving the vendor written notice at least thirty (30) days prior to the effective date of the termination. Upon receipt of termination from the County, the Vendor shall only provide those services specifically approved or directed by the County. All other rights and duties of the parties under the Contract shall continue during such notice period, and the County shall continue to be responsible to the vendor for the payment of any obligations to the extent such responsibility has not been excused by breach of default of the Vendor.

SECTION 16. Force Majeure

Neither party of this Contract shall be liable to the other for any cost or damages if the failure to perform the Contract arises out of causes beyond the control and without the fault or negligence of the parties. Such causes may include, but are not restricted to, acts of nature, fires, quarantine restriction, strikes and freight embargoes. In all cases, the failure to perform must be totally beyond the control and without any fault or negligence of the party.

SECTION 17. Access and Audits

The Vendor shall maintain adequate records to justify all charges, expenses, and costs incurred in performing the Work for at least three (3) years after completion of this Contract. The County and the Clerk of Courts shall have access to such books, records, and documents as required in this Section for the purpose of inspection or audit during normal business hours, at the County's or the clerk's cost, upon five (5) days' written notice.

SECTION 18. Vendor Responsibilities

The Vendor will provide the services agreed upon in a timely and professional manner in accordance with specifications.

SECTION 19. Public Emergencies

The Vendor shall agree before, during, and after a public emergency, disaster, hurricane, tornado, flood, or other acts of nature that the County shall require a "First Priority" for goods and services. It is vital and imperative that the majority of citizens are protected from any emergency situation that threatens public health and safety, as determined by the County. The Vendor agrees to rent/sell/lease all goods and services to the county or governmental entities on a "first priority" basis. The County expects to pay a fair and reasonable price for all products and services rendered or contracted in the event of a disaster, emergency, hurricane, tornado or other acts of nature.

SECTION 20. Period of Contract/Option to Extend or Renew

This Contract shall begin on the date of execution of this contract and terminate one year from the date of execution. The performance period of this Contract may be extended upon mutual Contract between the vendor and the County with no change in terms or conditions. Under this provision, three extensions of performance period shall be allowed in one (1) year increments. Total contract length and individual one (1) year extensions shall not exceed four (4) years in total. Any Contract or amendment to the Contract shall be subject to fund availability and mutual written agreement between the County and the Vendor.

SECTION 21. Exercise of Option

Exercise of option to extend term of contract: If the County wishes to enter into an option period, the County shall request from the Vendor their written statement of desire to enter into an extension of the performance period.

SECTION 22. Probationary Period

The first ninety (90) days of this Contract are to be considered a "probationary" period. At the County's election, this Contract may be terminated, based on the performance of the Vendor, and a new award be granted without another formal bid.

SECTION 23. Escalation Clause

Ninety (90) days prior to the end of the contract term, the Vendor may request in writing an increase in an individual item unit cost. Consideration of price increases at each renewal period will be given provided such escalations are reasonable and acceptable to the County. It is also expected that de-escalation of prices will be extended to the County if market so reflects. The County will consider a price adjustment based on the latest Consumer Price Index and/or proof of a manufacturer's price increase. Any and all proposed increases are subject to approval by the County.

SECTION 24. Supervision

The Vendor shall act as an independent contractor and not as an employee of the County. The County shall not exercise any supervision or control over the Vendor's employees performing services under this Contract. Such employees shall be accountable not to the County, but solely to the Vendor, who in turn is responsible to the County.

SECTION 25. Indemnification and Insurance

The Vendor shall indemnify and hold harmless the County and its agents and employees from and against all claims, damages, losses and expenses, including attorney's fees, arising out of or resulting from the performance of this contract, provided that any such claims, damage, loss or expense is attributable to bodily injury, sickness, disease or death, or to loss to or destruction of tangible property, including loss of use resulting therefrom; and is caused in whole or in part by any negligent or willful act or omission of the Vendor and/or Subcontractor, anyone directly or indirectly employed by any of them or anyone for whose acts any of them may be liable.

In any and all claims against the County or any of its agents or employees, by any employee of the Vendor, any Subcontractor, anyone directly or indirectly employed by any of them or anyone for whose acts any of them may be liable, the indemnification obligation shall not be limited in any way by any limitation on the amount or type of damages, compensation, or benefits payable by or for the Vendor or any Subcontractor under Workers' Compensation acts, disability benefit acts, or other employee benefits act.

The vendor shall, on a primary basis, and at its sole expense, agree to maintain in full force and effect at all times during the life of this contract, insurance coverage's, limits, including endorsements, as described herein. The requirements contained herein, as well as the County's review or acceptance of insurance maintained by the Vendor is not intended to and shall not in any manner limit or qualify the liabilities and obligations assumed by the Vendor under the Contract.

Workers' Compensation: The Vendor shall agree to maintain Workers' Compensation Insurance and Employers Liability in accordance with Florida Statute Chapter 440. Coverage must include Employers Liability with a minimum limit of \$100,000 for bodily injury caused by an accident, each accident; \$100,000 for bodily injury caused by a disease, each employee; \$500,000 for bodily injury caused by a disease, policy limit.

Business Auto Policy: The Vendor shall agree to maintain Business Automobile Liability at a limit of liability not less than \$1,000,000 each occurrence for all owned, non-owned and hired automobiles. In the event the Vendor does not own any automobiles, the Business Auto Liability requirement shall be amended allowing the Vendor to agree to maintain only Hired and Non-Owned Auto Liability. This amended requirement may be satisfied by way of endorsement to the Commercial General Liability, or separate business auto coverage form.

Commercial General Liability: Commercial General Liability for public liability during the lifetime of this Contract shall have minimum limits of \$1,000,000 each occurrence, \$2,000,000 General Aggregate; and \$2,000,000 Products-Completed Operations Aggregate. Coverage shall include Premises and/or Operations, Independent Contractors, Products and/or Complete Operations, Personal and Advertising Liability, Contractual Liability and Broad Form Property Damage Endorsements. Coverage shall not contain an exclusion or limitation endorsement for Contractual Liability or Cross Liability. Coverage for the hazards of explosion, collapse and underground property damage (XCU) must also be included when applicable to the work to be performed. All insurance policies shall be issued from a company or companies duly licensed by the State of Florida. All policies shall be on an occurrence basis; the County shall not accept claims-made policies. Specific endorsements will be requested depending upon the type and scope of work to be performed.

Additional Insured Requirements: Certificates showing proof of the above required insurance shall be provided to the County prior to start of this contract and shall be attached hereto as Exhibit "C". Except as to Workers' Compensation and Employers' Liability, said Certificate(s) shall clearly state that coverage required by the Contract has been endorsed to include Nassau County, a political subdivision of the State of Florida, its officers, agents and employees as Additional Insured with a CG 2026-Designated Person or Organization endorsement, or similar endorsement, to its Commercial General Liability. The name for the Additional Insured endorsement issued by the insurer shall read "Nassau County, a political subdivision of the State of Florida, its officers, employees and agents". Above stated insurance policies will be endorsed to unequivocally provide thirty (30) days written notice to the County prior to any adverse changes, cancellation, or non-renewal of coverage thereunder. A copy of the policy endorsements must be included with the Certificate of Insurance. Said liability insurance must be acceptable by and approved by the County as to form and types of coverage. In the event that the statutory liability of the County is amended during the term of this Contract to exceed the above limits, the contractor shall be required, upon thirty (30) days written notice by the County, to provide coverage at least equal to the amended statutory limit of liability of the County.

SECTION 26. Disputes

Any dispute arising under this Contract shall be addressed by the representatives of the County and the Consultant as set forth herein. Disputes shall be set forth in writing to the

County Manager with a copy to the Department Head or Consultant, depending on which party initiates the dispute, and provided by overnight mail, UPS, FedEx, or certified mail. A response shall be provided in the same manner prior to the initial meeting with the County Manager, the Department Head (or their designee), and a representative of the Consultant. This initial meeting shall take place no more than thirty (30) days from the written notification of the dispute addressed to the County Manager.

If the dispute is not settled at the initial meeting, the County Manager shall immediately notify the County Attorney. The Department Head (or his/her designee), the County Attorney, the County Manager, and the Department Head (or their designee(s)) shall meet with the Consultant's representative(s) within thirty (30) days of the County Manager's notification to the County Attorney of the continued dispute.

If there is no satisfactory resolution, the claims, disputes, or other matters in question between the parties to this Agreement arising out of or relating to this Agreement or breach thereof, shall be submitted to mediation in accordance with mediation rules as established by the Florida Supreme Court. Mediators shall be chosen by the County and the cost of mediation shall be borne by the Consultant. If either party initiates a Court proceeding, and the Court orders, or the parties agree to, mediation, the cost of mediation shall be borne by the Consultant. Consultant shall not stop work during the pendency of mediation or dispute resolution. No litigation shall be initiated unless and until the procedures set forth herein are followed.

SECTION 27. Entire Agreement

The written terms and provisions of this contract shall supersede all prior verbal statements of any official or other representative of the County. Such statements shall not be effective or be construed as entering into, or forming a part of, or altering in any manner whatsoever, this Contract or contract documents.

IN WITNESS WHEREOF, the parties have executed this contract on this day and year first above written.

BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

BARRY V. HOLLOW

Its: Chair

Attest as to authenticity of the

Chair's signature:

JOHN A. CRAWFORD

Ats: Ex-Officio Clerk

Approved as to form and legality by the

Nassau County Attorney

DAVID A. HALLMAN

HENRY SCHEIN INC

By: JESSE A GARRINGER Its: VICEPRES IDENT

STATE OF SOUTH DEDINA
COUNTY OF RICHARD

Before me personally appeared, Vesse A Sometimber, who is personally known or produced as identification, known to be the person described in and who executed the foregoing instrument, and acknowledged to and before me that he/she executed said instrument for the purposes therein expressed.

WITNESS my hand and official seal, this 6th day of November , 2013.

Notary Signature

Notary-Public-State of South Cooking at large My Commission expires: Sept. 13, 2014

MEDICAL SUPPLIES BID NO: NC13-040

AWARD SPREADSHEET

RE: Revision of Award for One Product Group on Bid NC13-040 Medical Supplies

Garringer, Jesse < Jesse. Garringer@henryschein.com >

Thu 2/6/2014 3:29 PM

To:Dawn Krass <dkrass@nassaucountyfl.com>;

Cc:Bruner, Scott <Scott.Bruner@henryschein.com>;

Dawn:

To confirm:

• IIIIIII the revised bid tabulation and award summary were received and is acceptable to Henry Schein Inc.

Thank you.

Jesse

Jesse A. Garringer Vice President Henry Schein Medical | EMS

Office: 800-845-3550 x390

Fax: 800-533-4793 Cell: 803-622-7087



From: Dawn Krass [mailto:dkrass@nassaucountyfl.com]

Sent: Thursday, February 06, 2014 3:19 PM

To: Garringer, Jesse **Cc:** Dawn Krass

Subject: FW: Revision of Award for One Product Group on Bid NC13-040 Medical Supplies

Mr. Garringer,

Please see below email and referenced attachments regarding the one group change in the recommendation. Henry Schein Inc. is not directly affected by the change in the award. Please reply to this email with acknowledgement that the revised bid tabulation and award summary were received and are acceptable to your company.

Thank you for your assistance in this matter.

Dawn Krass Contract Specialist Nassau County Contract Management

96135 Nassau Place, Suite 6

Yulee, FL 32097

Phone: (904) 491-7377 ext 1097

Fax: (904) 321-2658

Email: dkrass@nassaucountyfl.com

From: Dawn Krass < dkrass@nassaucountyfl.com>

Sent: Friday, January 3, 2014 8:38 AM

To: 'kentron@kentronmedical.com'; 'kaile@seequip.com'; 'jesse.garringer@henryschein.com';

'purchasing@quadmed.com' Cc: Dawn Krass; Mike Sadler

Subject: Revision of Award for One Product Group on Bid NC13-040 Medical Supplies

Good morning,

When the contracts were received by the recommended vendors, it was brought to the County's attention that Bound Tree is the exclusive distributor of the Airway, King System in the EMS market. After learning this, the County is revising the Recommendation of Award to reflect the Airway, King System be changed from Quadmed to Boundtree Medical.

Please find attached the Revised Exhibit A to your contract reflecting the new recommendation that will be given to the Board of County Commissioners for Award of this bid. The Summary Sheet and Bid Tabulation have both been revised effective November 20, 2013 showing the change for the Airway, King System line item.

Please review the attached information and reply to this email that you acknowledge the change. We had already received your signed contract back when this decision was made and we want to ensure all recommended vendors are aware of the revision before we present this to our Board.

Thank you for your assistance with this matter. Please feel free to contact me with any questions.

Dawn M. Krass **Contract Specialist** Nassau County Contract Management 96135 Nassau Place, Suite 6 Yulee, Florida 32097

Phone: (904)491-7377 ext 1097

Fax: (904) 321-2658

Email: dkrass@nassaucountvfl.com

Please consider the environment before printing this email.

E-mail messages may contain viruses, worms, or other malicious code. By reading the message and opening any attachments, the recipient accepts full responsibility for taking protective action against such code. Henry Schein is not liable for any loss or damage arising from this message.

The information in this email is confidential and may be legally privileged. It is intended solely for the addressee(s). Access to this e-mail by anyone else is unauthorized.

Bid Tabulation for Award Summary NC13-040 Medical Supplies Revised November 20, 2013

GROUPING	RECOMMENDED VENDOR
Airway	Kentron Health Care
Airway Equipment	Boundtree Medical
Airway, King System	Quadmed Boundtree Medical
Airway Laryngoscope	Southeastern Emergency Equipment
Bandages	Southeastern Emergency Equipment
Bio-Waste	Boundtree Medical
Disposable Linen	Boundtree Medical
Fluids	Boundtree Medical
Immobilization	Quadmed
Instruments	Kentron Health Care
IV Supplies	Boundtree Medical
Monitoring	Henry Schein
Monitoring Equipment	Boundtree Medical
Monitoring Glucose	Southeastern Emergency Equipment
Monitoring Lifepak 12/15	Henry Schein
Needles	Henry Schein
Oxygen Delivery	Boundtree Medical
Oxygen Equipment	Kentron Health Care
Pharmaceuticals	Henry Schein
PPE	Quadmed
Suction	Henry Schein
Syringes	Henry Schein
Twinpak	No longer used- no award

			1		Sov	ereign Me	edical Inc			Guaro	ian Medic	al Products			Southeaste	rn Fmer	gency Equipm	eni		Mid	west Med
a section	Product Name in the State of th	Repduct Description	SES SE	Unit Of	MUNICOLE			KExtended	Unit Of See	CUnit Of			SeExtended of	Unit Of	&Unit Otal C		Cost Per	Extended 20	UnitiOf#		Quantity
7.3			Yearty	Measure	Measure		territe	Erice par	Meas Ure	Measure	001	iem .	Price per	Measure	Measure		ikini l	Berice perse	Measure	Measure	pera
100			uses que	(le box	Coals	Measure		N. David	(jelbox	Cost	Veasure Market		Susage #	e box	Costs)	leasure ************************************	44.033	Usage	Measure (is/box.s		Measure
Item				Case)		4	等大型的		Caso Mark			學物方法論		Casa)	F O. O. S D. S	M. C.	Company of the Company	STATE OF STREET	CT) Last	PLANT WAS S	Settore 91
	Alrway to the day state of the conditional		RECEIVED	*colina itali	は全年を行る方は	Mary of a Contra		*******	ARCHIOCOP				- PO, O TOTOL	MANUAL AL			なっていからのは			Einstein Aus	が企業を選挙して
		40mm	12		NO BID		#VALUE!	#VALUE!	BOX	\$2.35	10	\$ 0.2350		EACH	\$0.16		\$ 0.1600		BOX	\$7.13	50
		50mm	12		NO BID		#VALUE!	#VALUE!	BOX	\$3.25		\$ 0.3250		EACH	\$0.16		\$ 0.1600		BOX	\$7.13	50
		60mm 70mm	16 20		NO BID		#VALUE!	#VALUE!	BOX	\$2.35	10	\$ 0.2350	\$ 3.7600 \$ 6.5000	EACH	\$0.16 \$0.16		\$ 0.1600 \$ 0.1600	\$ 2.5600 \$ 3.2000	BOX	\$7.13 \$7.13	50
=	Berman Oral Airway Berman Oral Airway	80mm	20		NO BID		#VALUE!	#VALUE!	BOX	\$3.25 \$2.35	10	\$ 0.3250 \$ 0.2350	\$ 4.7000	EACH	\$0.16		\$ 0.1600	\$ 3,2000	BOX	\$7.13	50
6		90mm	20		NO BID		#VALUE!	#VALUE!	BOX	\$2.35	10	\$ 0.2350		EACH	\$0.16	+++	\$ 0.1600		BOX	\$7.13	50
7	Berman Oral Airway	100mm	12		NO BID		#VALUE!	#VALUE!	BOX	\$2,35		\$ 0.2350		EACH	\$0.16		\$ 0.1600		BOX	\$7.13	50
	Berman Oral Airway	110mm	12		NO BID		#VALUE!	#VALUE!	BOX	\$2.35	10	\$ 0.2350		EACH	\$0.16		\$ 0.1600		BOX	\$7.13	50
	ET Tube w/ stylette	2.0 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90				EACH	\$1.61	1	\$ 1,6100		BOX	\$40.30	10
		2.5 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90		\$ 1,5900	\$ 159,0000	EACH	\$1.88	1	\$ 1,8800	\$ 188,0000		\$3.44	1
11	ET Tube w/ stylette	3.0 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15,90	10	\$ 1,5900	\$ 159,0000	EACH	\$1,13	1	\$ 1,1300	\$ 113,0000	EACH	\$1.40	1
12	ET Tube w/ stylette	3.5 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900	\$ 159,0000	EACH	\$1,13	1	\$ 1.1300	\$ 113,0000	EACH	\$1.40	1
13		4.0 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1,5900	\$ 159,0000	EACH	\$1.13	. 1	\$ 1.1300	\$ 113,0000	EACH	\$1,40	1
		4.5 Uncuffed	100		NO BID	1	#VALUE!	#VALUE!	BOX	\$15.90		\$ 1.5900	\$ 159,0000	EACH	\$1.13	1	\$ 1.1300	\$ 113,0000		\$1,40	1
	ET Tube w/ stylette	5.0 Uncuffed	100		NO BID		#VALUE!	#VALUE!	вох	\$15.90	10	\$ 1.5900	\$ 159,0000	EACH	\$1.13	1 1	\$ 1.1300	\$ 113.0000	EACH	\$1.40	1
	ET Tube w/ stylette	5.5 Cuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900		EACH	\$1,13	11	\$ 1.1300	\$ 113.0000	EACH	\$1.43	
		6.0 Cuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15,90		\$ 1.5900		EACH	\$1.13	1	\$ 1.1300	\$ 113.0000	EACH	\$1.43	
		6.5 Cuffed	150		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1,5900	\$ 238,5000		\$1,13		\$ 1.1300	\$ 169,5000	EACH	\$1.43	!
		7.0 Cuffed	150		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900	\$ 238.5000		\$1.13		\$ 1.1300	\$ 169,5000	EACH	\$1.43	
		7.5 Cuffed 8.0 Cuffed	150	 	NO BID		#VALUE!	#VALUEI	BOX BOX	\$15,90 \$15,90	10	\$ 1.5900 \$ 1.5900	\$ 238,5000 \$ 238,5000		\$1.13	1	\$ 1.1300 \$ 1.1300	\$ 169,5000 \$ 169,5000	EACH	\$1.43 \$1.43	
		8.5 Cuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900	\$ 159,0000	EACH	\$1.13 \$1.13		\$ 1.1300 \$ 1.1300	\$ 113,0000	EACH	\$1.43	
	ET Tube w/ stylette	9.0 Cuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900	\$ 159,0000	EACH	\$1.13	+ 1	\$ 1,1300	\$ 113.0000		\$1.43	
		12 FR	40		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 60,4000	EACH	\$2.04	1	\$ 2,0400	\$ 81,6000		\$15.10	10
		14 FR	40	 	NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 60,4000	EACH	\$2.04		\$ 2.0400	\$ 81,6000		\$15.10	10
-		16 FR	40		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1,5100			\$2.04		\$ 2,0400	\$ 81,6000		\$15.10	10
27	Nasopharyngeal Airway	18 FR	40	·	NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1,5100	\$ 60,4000	EACH	\$2.04		\$ 2.0400			\$15.10	10
28		20 FR	40		NO BID		#VALUE	#VALUE!	BOX	\$15.10	10	\$ 1,5100	\$ 60,4000		\$2.04	-i $-$ l	\$ 2.0400	\$ 81,6000		\$1.51	-1
29		22 FR	40		NO BID		#VALUE!	#VALUE!	BOX	\$15,10	10	\$ 1.5100	\$ 60,4000	EACH	\$2.04	1	\$ 2.0400	\$ 81,6000		\$1.51	1
30		24 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 120,8000	EACH	\$2,04	1	\$ 2.0400	\$ 163,2000	EACH	\$1,51	1
31	Nasopharyngeal Airway	26 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 120,8000	EACH	\$2.04	1	\$ 2.0400	\$ 163.2000	EACH	\$1.51	1
32	Nasopharyngeal Airway	28 FR	80		NO BID		#VALUE!	#VALUEI	BOX	\$15.10	10	\$ 1.5100	\$ 120,8000	EACH	\$2.04	1	\$ 2,0400	\$ 163.2000	EACH	\$1.51	1
33	Nasopharyngeal Airway	30 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1,5100	\$ 120,8000		\$2.04	_ 1	\$ 2.0400	\$ 163,2000	EACH	\$1.51	1
34	Nasopharyngeal Airway	32 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15,10	10	\$ 1.5100	\$ 120.8000	EACH	\$2.04	1	\$ 2.0400		EACH	\$1.51	1
35	Nasopharyngeal Airway	34 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 120,8000	EACH	\$2.04	1	\$ 2.0400	\$ 163.2000	EACH	\$1.51	1
36	Nasopharyngeal Airway	36 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 120,8000		\$2.04	_1	\$ 2.0400	\$ 163,2000	EACH	\$1.51	1
1.0	Alrway Equipment	gjidala ji da i di serri di serikki	克克斯克 克斯	स्था प्रकार क्रमानिक स	建筑市场市场 10000	A Section of the	decida le propieta	** #VALUEI	\$50.00 miles	A. Francisco	1600 EXE	B. 12775 特別的。安徽	\$ 1,284.86		2000年	who but	される公司を対象	\$ *1,156.33	Mary Service	All a serial	
	Bite Stick, Latex Free		16		NO BID		#VALUE!	#VALUE!	BOX	\$23,80	50	\$ 0.4760	\$ 7.6160	EACH	\$0.33	1	\$ 0.3300	\$ 5.2800	EACH	\$0.30	
38	Introducer, ET Tube	2 grame	60 200		NO BID		#VALUE!	#VALUE!	BOX	\$36.36 \$13.56	10 150	\$ 3.6360 \$ 0.0904	\$ 218,1600 \$ 18,0800	EACH BOX	\$4.59 \$4.93	144	\$ 4.5900 \$ 0.0342	\$ 275.4000 \$ 6.8472	EACH BOX	\$3.87 \$5.97	144
	Lubricating Jelly, Sterile PosiTube, ET Tube Placement	3 grams	200		NO BID		#VALUE!	#VALUE!	DOX .	NO BID	130	#VALUE!	* 18,0800 #VALUE!	EACH	\$4.93	144	\$ 0.0342	\$ 67.8000		\$369.35	100
	Thomas Tube Holder	Pediatric	100	1	NO BID		#VALUE!	#VALUE!	100	\$347.00	100	\$ 3,4700	\$ 347,0000	EACH	\$2.67		\$ 2.6700		EACH	\$2.66	-100
	Thomas Tube Holder	Adult	200	l	NO BID		#VALUE!	#VALUE!	100	\$347.00	100	\$ 3,4700	\$ 694,0000	EACH	\$2.67		\$ 2.6700	\$ 534,0000		\$2.66	
	Alrway, King System	Augustines States at the life	3650 N 100	p	Mark and	girlingen Fatter	Service Service	#VALUE!	## \$100 CM 100 CM	40-77.00	************	\$0.554.8047 mid	\$ * * 8.892.80	19 (490) 40	Ψ2.07	Aspartments	2.0700	\$ 2008,893,60		30 Z 5	
	King Tube LT-D Kits	Size 2	40	t	NO BID		#VALUE!	#VALUE!	вох	\$317.60	10	\$ 31.7600	\$ 1,270,4000	EACH	\$28.47	1	\$ 28,4700	\$ 1,138,8000	 	NO BID	
	King Tube LT-D Kits	Size 2.5	40	†	NO BID		#VALUE!	#VALUE!	BOX	\$317.60	10	\$ 31.7600	\$ 1,270,4000	EACH	\$28.47	i	\$ 28,4700	\$ 1,138.8000	t	NO BID	
	King Tube LTS-D Kits	Size 3	40		NO BID		#VALUE!	#VALUE!	BOX	\$317.60	10	\$ 31.7600	\$ 1,270.4000	EACH	\$33.08	1	\$ 33.0800	\$ 1,323.2000	·	NO BID	
	King Tube LTS-D Kits	Size 4	80		NO BID		#VALUE!	#VALUE!	BOX	\$317.60	10		\$ 2,540.8000	EACH	\$33.08	1	\$ 33.0800	\$ 2,646.4000	T	NO BID	
47	King Tube LTS-D Kits	Size 5	80		NO BID		#VALUE!	#VALUE!	80X	\$317.60	10	\$ 31.7600	\$ 2,540.8000	EACH	\$33.08	1	\$ 33.0800	\$ 2,646.4000	T	NO BID	
3.55	Airway Laryngoscope	metabolism stocker when it	Marke M.	数据的自由的	attackle	a faction of the	en Distribution	\$ 3,054.90	第一次小学	were the same	र्मात कर्तकाल क	Marie Language	** #VALUEI**	Marian Carl	the strong of	প্রস্থান নালক্ষরী	CONTRACTOR (NO	\$1,381,20	eres con	WHITE FOR	8000
			T	does not										1				WALUE			
48	Laryngoscope Blade	Mac #0	6	exist	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID				1	NO BID	
49	Laryngoscope Blade	Mac #1	12	EACH	\$9,95	1	\$ 9,9500	\$ 119,4000		NO BID		#VALUE1	#VALUEI	EACH	\$8,62	1		\$36103,4400		NO BID	
50	Laryngoscope Blade	Mac #2	12	EACH	\$9.95	1	\$ 9.9500	\$ 119,4000	1	NO BID		#VALUE!	#VALUE!	EACH	\$6.72	1		\$86,80.6400		NOBID	
51	Laryngoscope Blade	Mac #3	12	EACH	\$9.95	1	\$ 9.9500	\$ 119,4000	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$6.72			\$ 30,5400		NO BID	
52	Laryngoscope Blade	Mac #4	12	EACH	\$9.95	1	\$ 9.9500	\$ 119.4000		NO BID		#VALUE!	#VALUE!	EACH	\$6.72	!		\$ 80.6400	ļ	NO BID	
53	Laryngoscope Blade	Miller #0	6	EACH	\$9.95		\$ 9,9500	\$ 59.7000		NO BID		#VALUEI	#VALUE!	EACH	\$6.72	. 1		\$ *** 40.3200	 	NO BID	
54	Laryngoscope Blade	Miller #1	12	EACH	\$9.95	1	\$ 9.9500	\$ 119,4000	 	NO BID		#VALUE!	#VALUE!	EACH	\$8,62	1		\$ 103,4400		NO BID	
55	Laryngoscope Blade	Miller #2	12	EACH	\$9.95	<u> </u>	\$ 9.9500	\$ 119,4000	<u></u>	NO BID		#VALUE!	#VALUEI	EACH	\$6.72	1	j a *-> 6./200	\$ 80.6400		NO BID	

3	Product Name * :	Product Description	Eal/s Yearly	Unii Oles Measures (le boxis	sUnit Of	Quentity per	Cost Per	Extended & Price per s	Unit Ofera Measure is	Unit Off Measure	Quantily	Cost Per a	Extended / Be Price per Be Usage	Unit O(se Measure	Unit Of	Quantity per 1	Coat Para Item	Extended :	Unit Of a	Measure	
ltem			useage	(le box 21)	Cost	Measure		Usage	(le box	Costa	Measure Proteste		Usage	(le box,	Costs	Measure		Usrio e	(le box	Cost	Measure
		Miller #3	12	EACH	\$9.95	1	\$ 9.9500	\$ 119.4000	Laso	NO BID		#VALUE!	#VALUE!	EACH	\$6.72	1	\$40.7200	\$ 80.6400	Case	NO BID	
57	aryngoscope Blade	Miller #4	12	EACH	\$9.95	1	\$ 9.9500	\$ 119.4000		NO BID		#VALUE!	#VALUEI	EACH	\$8.62			(\$103,4400)		NO BID	
	aryngoscope Handle	Small	12	EACH	\$85.00	1	\$ 85.0000	\$ 1,020.0000		NO BID		#VALUE!	#VALUE!	EACH	\$26.14			\$1000313.6800		NO BID	
	aryngoscope Handle	Large	12	EACH	\$85.00	Total Constitution	\$ 85.0000	\$ 1,020.0000 **VALUE!**	8 C W 628	NO BID	Salara de la companya della companya della companya de la companya de la companya della companya	#VALUE!	#VALUE!	EACH	\$26.14			\$##313.6800 \$##\$,725.71	MARKET CO.	NO BID	
	BANDAGES 10 10 10 10 10 10 10 10 10 10 10 10 10	Zarundu (intelligia (intelligi	200	\$0,000,000,000	NO BID	A See Front See Line	#VALUE	#VALUE!	CASE	\$10,56	30	\$ 0.3520	\$ 70,4000	PACK	\$1.26			\$149126,0000		\$9.82	30
	2" Self Adherent Wrap		205	 	NO BID		#VALUE!	#VALUE!	CASE	\$10.56	30	\$ 0.3520	\$ 72,1600	EACH	\$1.02	1 1 1		\$ \$\$\$209.1000		\$22.85	36
		Non-Sterile	250		NO BID		#VALUEI	#VALUE!	BOX	\$3.20	200	\$ 0.0160	\$ 4.0000	BAG	\$2,52	200		\$1966463,1500		\$1.78	200
	4" X 4" X 8 ply	Sterile	200		NO BID		#VALUE!	#VALUE!	BOX	\$6.65	100	\$ 0.0665	\$ 13.3000	BOX	\$1.47			\$ 5.8800		\$1.24	50
		5" X 9"	25		NO BID		#VALUE!	#VALUE!	BOX	\$2.38	20	\$ 0.1190		BOX	\$1.69			\$1.6900		\$1.59	20
	ABD Pad ABD Pad	71/2" X 8" 8" X 10"	25 25		NO BID		#VALUE!	#VALUE!	BOX	NO BID \$2.87	15	#VALUE! \$ 0.1913	#VALUE! \$ 4,7833	BOX	\$1.83 \$2.22			\$1400A3.8125		\$1.59 \$3.16	12 24
	Asherman Chest Seal	0 10	50	 	NO BID		#VALUE!	#VALUE!	EACH	\$9.35	10	\$ 9,3500	\$ 467,5000	EACH	\$8.33			\$1416,5000		\$9.55	-24
		3/4" x 3", Cloth	1000	 	NO BID		#VALUE!	#VALUE!	DROIT	NO BID		#VALUE!	#VALUE!	BOX	\$1,44			\$ \$ 14,4000		\$1,30	100
	Burn Sheet, Sterile	60" X 90"	60		NO BID		#VALUE!	#VALUE!	EACH	\$2.89	1	\$ 2.8900	\$ 173,4000	EACH	\$1.87	1		\$44112,2000		\$1,29	1
	Cold Pack		300		NO BID		#VALUE!	#VALUE!	CASE	\$6.79	24	\$ 0.2829	\$ 84.8750	CASE	\$7.09	24		\$ 88.6250		\$9.35	24
	Conforming Gauze Bandage	2" Sterile	1000		NO BID		#VALUE!	#VALUE!	EACH	\$0.23	1	\$ 0.2300	\$ 230,0000	BAG	\$2,09	12		\$#64174,1667		\$2.28	12
	Conforming Gauze Bandage	4" Sterile	1000	 	NO BID		#VALUE!	#VALUE!	EACH BOX	\$0.26		\$ 0.2600	\$ 260.0000		\$2.64	12		\$ 4220,0000		\$2.84	12
	Conforming Gauze Bandage Eye Patch	4" Non-Sterile Large Oval	1000	 	NO BID		#VALUE!	#VALUE!	BOX	\$1.70 \$1.09	12	\$ 0.1417 \$ 0.2725	\$ 141.6667 \$ 16.3500	BAG BOX	\$1,69 \$3,96	12 50		\$ 140.8333 \$ 180004,7520		\$1.42 \$3.66	12 50
-	Hot Pack	Large Ottal	250		NO BID		#VALUE!	#VALUE!	CASE	\$10.90	24	\$ 0.4542	\$ 113.5417	CASE	\$10.98			\$ JON 114:3750		\$13.57	24
-	Hydrogen Peroxide	16 oz bottle	100		NO BID		#VALUE!	#VALUE!	EACH	\$0.85	1	\$ 0.8500	\$ 85.0000	EACH	\$0.49	1		\$ 49.0000		\$55.00	1
	Mechanical Advantage Tourniquet		50		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$22.98	1		\$41,149.0000		NO BID	
	Multi-Trama Dressing	12" X 30"	50		NO BID		#VALUE!	#VALUE!	CASE	\$26.25	25	\$ 1.0500	\$ 52.5000	EACH	\$1.23	1		\$\$4861.5000		\$0.75	1
	Petroleum Dressing	4" X 4"	100		NO BID		#VALUE!	#VALUE!	BOX	NO BID		#VALUE!	#VALUE!	564	NO BID	ļ		₩#VALUEI®		\$30.88	50
80 81	Tape 1" Tape 1"	Transpore Paper	1000	 	NO BID		#VALUE!	#VALUE!	BOX	\$11.82 \$4.85	12	\$ 0.9850 \$ 0.4042	\$ 985,0000 \$ 202,0833	BOX	\$9.54 \$3.39	12		\$ 795,0000 \$ 20141,2500		\$10.09 \$3,51	12
_	Tape 2"	Transpore	1000	· 	NO BID		#VALUE!	#VALUE!	BOX	\$11.82	6	\$ 1,9700	\$ 1.970.0000	BOX	\$9.54	6		\$\$1,590,0000		\$10.09	6
83	Tape 2"	Paper	500	 	NO BID		#VALUE!	#VALUE!	BOX	\$4.85	6	\$ 0.8083	\$ 404,1667	BOX	\$3,39	6		\$14282,5000		\$3,51	6
84	Triangular Bandages	40" X 40" X 56"	60		NO BID		#VALUE!	#VALUE!	BOX	\$4,78	12	\$ 0.3983	\$ 23.9000	EACH	\$0.32	1	\$ 0.3200	\$100 19.2000	EACH	\$0.21	
	BIO-WASTE S	William Color State Color Color	April 689	434 مرابي دروان	for the state of t	ezekîş falik	實 化双轮流 脫	→ #VALUEI®	لخومتم آل مكام والإناساء	by arrigal years age	The Contract of the	14 July 179 July	\$ 1,544.00	a same	タイ 同点変楽	25年14日本		\$ 2,181,17		90 h 1 8	
	Backboard Bags	24" x 86"	1 1	ļ	NO BID		#VALUE!	#VALUE!		NO BID		#REFI	#REFI	EACH	\$2.52	1	\$ 2.5200	\$ 2,5200		\$68.90	50
86 87	Convenience Bags	24" X 24"	2000	 	NO BID		#VALUE!	#VALUE!	BOX BOX	\$9.25 \$3,80	25 50	\$ 0.3700 \$ 0.0760	\$ 74,0000 \$ 152,0000	BAG ROLL	\$7.87 \$0.94	25	\$ 0.3148 \$ 0.0940	\$ 62,9600 \$ 188,0000		\$10.35 \$48.51	25 500
88	Red Bags, Small Red Bags, Large	30.5" X 41"	1000		NO BID		#VALUE	#VALUE!	BOX	\$18.90	50	\$ 0.3780	\$ 378,0000		\$2.09	10	\$ 0.0940	\$ 209.0000		\$63.16	250
	Sharps Shuttle, P2	0010 14 11	500		NO BID		#VALUE!	#VALUE!	BOX	\$45.12	24	\$ 1,8800	\$ 940,0000		\$1.57	1	\$ 1,5700	\$ 785,0000		\$1.64	
	Sharps Container, 1 qt	P/N 31143657	60		NO BID		#VALUE	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	1.68	1
91	Sharps Container, 12 qt	P/N 8537SA	100		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$81.46	10	\$ 8.1460	\$ 814.6000		\$8.63	1
92	Bracket, Mounting for 12 qt		6		NO BID	<u> </u>	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE	CASE	\$99.24	5	\$ 19.8480	\$ 119,0880		\$102.75	5
93	DISPOSABLE LINEN Blanket, Quilted, Disposable	TO MERCHANIST CONTRACT	100	45 11 11 25	NO BID	1000 (000 (000))	#VALUEI	#VALUE!	62 5 MAR 462 10	NO BID	अध्यक्ष रहा	#VALUE!	\$ 7,737.50 #VALUE	CASE	\$44,14	10	\$ 4.4140	\$ 10,745.40 \$ 441.4000		\$66.79	10
94	Blanket, Yellow, Disposable	60" X 90"	2000	 	NO BID	 	#VALUE!	#VALUE!	CASE	\$41.25	25	\$ 1.6500	\$ 3,300,0000	EACH	\$2.68	1	\$ 2.6800	\$ 5,360,0000		\$1,15	
95	Cot Sheet, Fitted, Disposable		5000		NO BID		#VALUE!	#VALUE!	CASE	\$36.75	50	\$ 0.7350	\$ 3,675,0000	CASE	\$46.34	50	\$ 0.9268	\$ 4,634,0000		\$60.73	50
96	Pillow, Disposable	Poly/Catton	250		NO BID		#VALUE!	#VALUE!	3 PAK	\$9.15	_ 3	\$ 3.0500	\$ 762,5000	EACH	\$1.24	1	\$ 1.2400	\$ 310,0000	EACH	\$2.27	1
र्जान्य ।	FLUIDS	6 May 1 1 Marson 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1978 But	S & V 18 (45)	WEST LICE	Galdet 15	Section in Line	#VALUEI	Section 1	者が各地方	१ व्यक्तुः संक्र	まり見なる あかり	\$ 4,139.58	\$4 1895 14 25	25.00 M. M. M.	THE SHOP SHOP	ters, school	\$ 2,770.74	yyeya'. Y	ed error	
	NALC 0.9% Injection USP 100ml	P/N 2B1307	80	 	NO BID	ļ	#VALUE!	#VALUE!	CASE	\$156.96	96	\$ 1,6350	\$ 130,8000	CACE	NO BID		#VALUE!	#VALUE!	EACH	\$1.40	
98 99	NALC 0.9% Injection USP 250ml NALC 0.9% Injection USP 1000ml	P/N 2B1322Q P/N 2B1324X	1500		NO BID		#VALUE!	#VALUEI	CASE CASE	\$38.25 \$34.75	36	\$ 1.0625 \$ 2.4821	\$ 85.0000 \$ 3,723,2143		\$27.92	36	\$ 0.7756 \$ 0.9800			\$0.88	
100	NALC 0.9% Irrigation USP 1000ml	ווון בטוטבאא	50	+	NO BID	 	#VALUE!	#VALUE!	CASE	\$28.84	14	\$ 2.4821	\$ 120,1667	EACH	\$1.43	1 1	\$ 0.9800 \$ 1.4300			\$1.19 \$1,33	1
101	NALC 0.9% IV Flush 10ml	P/N 8881570121	3000	1	NO BID	 	#VALUE!	#VALUE!	† ===	NO BID		#VALUE!	#VALUE!	EACH	\$0,37		\$ 0.3700			\$11.42	30
102	Sterile Water, Irrigation 1000ml		40	I	NO BID		#VALUE!	#VALUE!	CASE	\$24.12	12	\$ 2.0100	\$ 80,4000	EACH	\$1.40		\$ 1,4300			\$1.28	
W	IMMOBILIZATION -	Carlor Company	r Raferiile	t to the same	Mary Hill Physics	fage fe 2	1. 18. 83 THE	**VALUEI*	80 4 VA	かく 一般が不必要	WAR & COME	क्षेत्रकात्रकात्रकात्रक	\$ 66,852,15		77、从来这种	Participation of	41 Mary 2019		programme in the	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	1207 14 14
103	Backboard Air Mattress	Thomas Back Raft	50	4	NO BID		#VALUEI	#VALUEI	EACH	\$17,59	1	\$ 17.5900	\$ 879,5000	EACH	\$16.38	1 1	\$ 16.3800	\$ 819,0000	4	NO BID	
104	Backboard Straps	9' with Cam Buckle, Orange	6000	1	NO BID		#VALUE!	#VALUE!	CASE	\$625.00	100	\$ 6.2500	\$ 37,500,0000	EACH	\$5.93		\$ 5,9300	\$ 35,580,0000	EACH	\$7.45	
105	C Collar	Adult adjustable	1000	 	NO BID	 	#VALUE!	#VALUE!	EACH	\$11.35	100	\$ 11.3500		EACH	NO BID	' 	#VALUE!	#VALUE!	EACH	\$6.62	
106	C Collar	Pedi adjustable	600	1	NO BID	t	#VALUE!	#VALUE!	† ****/	NO BID	<u> </u>	#VALUE!	#VALUEI	t	NO BID	1	#VALUE!	#VALUE!	EACH	\$6.62	
	Head Immobilizer	Sta-Blok	1000		NO BID		#VALUE!	#VALUE!	CASE	\$139.50	30	\$ 4.6500	\$ 4,650.0000	EACH	\$3.73	1	\$ 3.7300		EACH	\$4.34	
108	Magamover Plus	P/N 53376	400		NO BID		#VALUE!	#VALUE!	EACH	\$24,98	1	\$ 24,9800	\$ 9,992,0000		\$238.67	10	\$ 23.8670			\$21.42	
	ProSplint Kit	Adult	12		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$153.28	1	\$ 153.2800			\$164.72	
1110	Restrant, Ankle	P/N 2755	1 7		NO BID	Щ	#VALUE!	#VALUE	PAIR	\$20.83	1	\$ 20.8300	\$ 145,8100	PAIR	\$26.5	/1_2	\$ 13.2850	\$ 92.9950	PAIR	\$21.56	

Product Name 1	*Product Description	Esta Yearly Useage	Measure & Measur	Quantity Der Measure	Cost Per l	Extended Price per Usage es	Unit Of all Measure	Measure	ALC: NO.	to tem 2 a	SPrice person	Unit Of it Measure (ie box)	Measure	Quantity Siperal	e Cost Pers them as	es Extended s Price per s Cast Usana	Unit Of a Measure	Measure Measure Cost	Quantity per
ltem .		Say and	(le box, Cost)	Company of the		1	(le box	Cost	5 W 10 H		and the second second			S. HOUSE		国人和中央公司	Case)	数はなががは	Million t
111 Restrant, Ankle Disposable		12	NO 81D		#VALUE!	#VALUE!	PAIR	\$3,10	1	\$ 3,1000	\$ 37,2000	PAIR	\$4.67	2	\$ 2.3350	\$ 28,0200		\$2.98	
112 Restrant, Wrist	P/N 2750		NO BID		#VALUE!	#VALUE!	PAIR	\$20.58		\$ 20.5800	\$ 144.0600	PAIR	\$26.31	2	\$ 13.1550	\$ 92,0850 \$ 28,0200		\$21.35	
113 Restrant, Wrist Disposable 114 SAM Splint / Flex-All	L	12 60	NO BID		#VALUE!	#VALUE!	PAIR EACH	\$3.10 \$4.90		\$ 3.1000 \$ 4.9000	\$ 37.2000 \$ 294.0000	EACH	\$4.67 \$3.98	2	\$ 2.3350 \$ 3.9800	\$ 238,8000		\$2.98 \$2.35	
115 SAM Pelvic Sling	Medium	10	NO BID	+	#VALUE!	#VALUE!	EACH	\$65.18		\$ 65.1800	\$ 651,8000	CAUN	NO BID		#VALUE!	#VALUE!	EAUT	NO BID	
116 SAM Pelvic Sling	Large	10	NO BID	1	#VALUE!	#VALUE!	EACH	\$67.18		\$ 67.1800	\$ 671.8000		NO BID		#VALUE!	#VALUE!	 	NO BID	
TO DAM CANODING	Loop Ends, Push Button			1		WYITEDE		40.11.5		7 - 5777.555	·							1	
117 Stretcher Strap 7	Buckle	28	NO BID		#VALUEI	#VALUE!	EACH	\$6.55	1	\$ 6.5500	\$ 183,4000	EACH	\$6.32	1	\$ 6.3200	\$ 176,9600		\$6.59	. 1
118 Traction Splint	QD-3 Child	1	NO BID		#VALUE!	#VALUE!	EACH	\$157.69	1	\$ 157.6900		EACH	\$139.77		\$ 139.7700	\$ 139.7700		\$139.77	1
119 Traction Splint	QD-4 Adult	1	NO BID		#VALUE!	#VALUE!	EACH	\$157.69	111	\$ 157.6900		EACH	\$139.77		\$ 139.7700	\$ 139.7700		\$139.77	
INSTRUMENTS	2000年,在1900年 (1900年)	18 Steel 25	the make the strains	1 6.00 M	· 阿里斯斯 () () ()	**#VALUE	\$60 P. 100	A. S. Walleton	All for the	1000年後期間衛	\$ 643.99	按照	at transfer of	elin Kuljer	North Addition			1 1 mg 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3,73.34
120 Center Punch	O adfabria	25	NO BID		#VALUE!	#VALUE!	EACH EACH	\$5.24		\$ 5.2400 \$ 5.2300		EACH EACH	\$2.14 \$4.02		\$ 2.1400 \$ 4.0200	\$ 53,5000 \$ 100,5000		\$5,11 \$3,77	
121 Forceps, Magill 122 Forceps, Magill	Pediatric Adult	25 25	NO BID		#VALUE!	#VALUE!	EACH	\$5,23 \$4,86		\$ 5.2300 \$ 4.8600	\$ 130.7500 \$ 121.5000	EACH	\$4.02		\$ 4.0200	\$ 100,5000		\$4.12	
123 Forceps, Kelly	51/2" Curved	25	NO BID	+	#VALUE!	#VALUE!	EACH	\$1,34	1	\$ 1,3400	\$ 33,5000		\$0.91		\$ 0.9100			\$1.80	
124 Forceps, Kelly	51/2" Straight	25	NO BID	1	#VALUE!	#VALUE!	EACH	\$1.34	i	\$ 1.3400		EACH	\$0.91	1	\$ 0.9100			\$1,80	1
125 Ring Cutter		12	NO BID	1	#VALUE!	#VALUE!	EACH	\$5.98	1	\$ 5.9800		EACH	\$4.34	1	\$ 4.3400			\$11.55	1
126 Ring Cutter Blades		25	NO BID		#VALUE!	#VALUE!	PAK	\$5.98		\$ 1.4950		EACH	\$1.18	1	\$ 1.1800	\$ 29.5000		\$4.46	1
127 Scalpel, disposable, #11		60	NO BID		#VALUE!	#VALUE!	BOX	\$4,50	10	\$ 0.4500		BOX	\$4.33	10	\$ 0,4330	\$ 25,9800		\$3.86	10
128 Shears, Trauma	71/2"	60	NO BID	-	#VALUE!	#VALUE!	EACH	\$0.96	1 .	\$ 0.9600	\$ 57.6000	EACH	\$1.03	1	\$ 1.0300	\$ 61,8000		\$0.70	1
129 Trousseau Dilator	a protest de la companya de la comp	12	NO BID		#VALUE!	#VALUE!	GRADA WATER AND	NO BID	3000	#VALUE!	#VALUE! \$ 13.090.78	195648-78 . 3	NO BID	94.40 P. 40 B. 1	#VALUE!	#VALUEI \$:*310.651.28	EACH	\$104.30	
130 10 Drop IV Admin Set	P/N EMS3110	1000	NO BID		#VALUE!	#VALUE!	CASE	\$71.85	48	\$ 1,4969		CASE	\$62,51	48	\$ 1.3023	\$ 1,302,2917	EACH	\$1.27	
131 60 Drop IV Admin Set	P/N EMS3160	100	NO BID	+	#VALUE!	#VALUE!	CASE	\$71.85	48	\$ 1.4969	\$ 149,6875	CASE	\$62.51	48	\$ 1.3023	\$ 130.2292	EACH	\$1.27	_
132 3-Way Stopcock	P/N 2C6240	300	NO BID	+	#VALUE!	#VALUE!	CASE	\$64.50	50	\$ 1,2900	\$ 387,0000	U/IOL	NO BID		#VALUE!	#VALUE!	1011	NO BID	
133 Alcohol Prep Pads	Medium	2000	NO BID		#VALUE!	#VALUE!	BOX	\$1.50	200	\$ 0.0075	\$ 15,0000	BOX	\$0.82	100	\$ 0.0082	\$ 16,4000	вох	\$1,27	200
134 Buretrol Set, 60 Drops	P/N 2C8819	50	NO BID		#VALUE!	#VALUE!	CASE	\$230.00	20	\$ 11.5000	\$ 575,0000		NO BID		#VALUE!	#VALUE		NO BID	
135 IV Extension Set	P/N AE-3108	5000	NO BID		#VALUE!	#VALUE!	CASE	\$164.00	100	\$ 1.6400	\$ 8,200.0000	EACH	\$1.46	1	\$ 1.4600	\$ 7,300.0000	EACH	\$1.33	1
136 IV Site Dressing	Pediatric	500	NO BID		#VALUE!	#VALUE!	BOX	\$45.92	100	\$ 0.4592	\$ 229,6000		\$34.44	100	\$ 0.3444	\$ 172.2000		\$358.22	100
137 IV Site Dressing	Adult	1000	NO BID		#VALUE1	#VALUE!	BOX	\$42.68	100	\$ 0.4268	\$ 426,8000	BOX	\$36.67	100	\$ 0.3667	\$ 366,7000		\$37.07	100
138 Lever Lock Cannula	P/N NF9200	300	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$26.62	100	\$ 0.2662	\$ 79.8600	CASE	\$110.90	400
139 Micro-Vol. Extension Set	P/N 2N3348	250	NO BID		#VALUE!	#VALUE!	CASE	\$82.00	50	\$ 1.6400	\$ 410,0000	Exou.	NO BID	1	#VALUEI \$ 20,2800	#VALUE!	CASE	\$69.51	50
140 Morgan Lens 141 Pressure Infuser, Disposable	1000ml	25 20	NO BID	+	#VALUEI	#VALUE!	EACH	NO BID	 	#VALUE!	#VALUE!	EACH EACH	\$20.28 \$13.03	1	\$ 13,0300	\$ 507,0000 \$ 260,6000		\$22.33 \$8.10	
142 Tourniquet, Latex Free	1° X 18°	6000	NO BID	-	#VALUE!	#VALUE!	CASE	\$11,30	100	\$ 0.1130	\$ 678,0000	PACK	\$0.86	10	\$ 0.0860	\$ 516,0000		\$16.50	250
143 Universal Vial Adapter	P/N 2N3395	300	NO BID	+	#VALUE!	#VALUE!	CASE	\$418.25	240	\$ 1.7427	\$ 522.8125	11.01	NO BID		#VALUE!	#VALUE!	CASE	\$367.22	240
MONITORING	द्व ित्रकेतिक्ष णकामा स्थापन । प्रतासका	5000	from the section	9 (20) WHIE	ANTERONOUS	S #VALUE	Gree 13 750	40 75.00	4. 35 × 35, 45	THE R. P. LEWIS P.	\$ 1,520.94	15.2 456	228.00	Walter St.	(1) 1 Young	\$ 22,326.76	1984 I	a or gallery species	
144 Blood Press. Cuff Disposable	Infant, ML Fitting	100	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$4.68	1	\$ 4.6800	\$ 468,0000	BOX	\$24.89	10
145 Blood Press. Cuff Disposable	Child, ML Fitting	100	NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	EACH	\$1.98	1	\$ 1.9800	\$ 198.0000		\$35.24	10
146 Blood Press. Cuff Disposable	Small Adult, ML Fitting	100	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$2.29	11	\$ 2,2900	\$ 229,0000		\$32.07	10
147 Blood Press. Cuff Disposable	Adult, ML Fitting	200	NO BID		#VALUE!	#VALUE!	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$3.04	1	\$ 3.0400	\$ 608.0000		\$38.10	10
148 Blood Press, Cuff Disposable 149 Blood Press, Cuff Manual	Large Adult, ML Fitting	200	NO BID		#VALUE!	#VALUE!	EACH	NO BID \$5.34	 	#VALUE \$ 5.3400	#VALUE! \$ 64,0800	EACH EACH	\$3.47 \$6.38	1	\$ 3,4700 \$ 6,3800	\$ 694,0000 \$ 76,5600		\$44.05 \$5.79	10
149 Blood Press, Cuff Manual 150 Blood Press, Cuff Manual	Infant Child	20	NO BID	+	#VALUE!	#VALUE!	EACH	\$5.34	 	\$ 5.3400	\$ 106,8000	EACH	\$6.38	- ' -	\$ 6,3800	\$ 127,6000		\$5.79	
151 Blood Press, Culf Manual	Adult	30	NO BID	+	#VALUE!	#VALUE!	EACH	\$5.34		\$ 5.3400	\$ 160,2000	EACH	\$5,54	-	\$ 5.5400	\$ 166,2000		\$5.79	
152 Blood Press, Cuff Manual	Large Adult	30	NO BID	1	#VALUE!	#VALUE!	EACH	\$7.47	1	\$ 7.4700	\$ 224,1000		\$8.03	1	\$ 8.0300	\$ 240,9000		\$5.79	1
153 CO2 Detector	Pedi-Cap II	600	NO BID	1	#VALUE!	#VALUE!	T	NO BID		#VALUE!	#VALUE!	EACH	\$8.94	1	\$ 8.9400	\$ 5,364.0000		\$9.24	1
154 CO2 Detector	Easy Cap II	800	NO BID		#VALUE)	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$8.94	1	\$ 8.9400	\$ 7,152.0000	EACH	\$9.24	1
155 Defibrillation Pad	Pediatric, Multifunction	24	NO BID		#VALUE!	#VALUE!	PAIR	\$21,95	1_1_	\$ 21.9500	\$ 526.8000		NO BID		#VALUE!	#VALUE	1,	NO BID	
156 Defibrillation Pad	Adult, Multifunction	24	NO BID		#VALUE!	#VALUE!	PAIR	\$18.29	1	\$ 18.2900	\$ 438.9600	DOV:	NO BID		#VALUE!	#VALUE!	CASE	\$318.80	
157 EKG Electrodes	Pediatric, Diaphoretic	1000	NO BID		#VALUEI	#VALUE!	 	NO BID	ļ	#VALUE!	#VALUE!	BOX	\$9.21	60	\$ 0.1535	\$ 153.5000	PACK	\$0.47	3
1ED EVC Floatrados	Adult, Diaphoretic (30 per pack)	8000	NO BID		#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!	PACK	\$4.38	30	\$ 0,1460	\$ 1,168,0000	BAG	\$4.48	30
158 EKG Electrodes 159 LifePak 12/15 Pulse Ox Sensor	Infant, I-20	100	NO BID		#VALUE!	#VALUE!	+	NO BID	 	#VALUE!	#VALUE!	EACH	\$4,38	1	\$ 19,4600	\$ 1,168.0000	_	\$17.65	
160 LitePak 12/15 Pulse Ox Sensor	Pediatric, D-20	250	NO BID	+	#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE!	EACH	\$14.94		\$ 14.9400	\$ 3,735,0000	CASE	\$325,75	
161 LifePak 12/15 Pulse Ox Sensor	Adult, Reuseable	75	NO BID	_	#VALUE!	#VALUE!	t	NO BID	 	#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE!	EACH	\$120.96	1-1
162 LilePak 12/15 Pulse Ox Sensor	Extension Cable, 4 ft	20	NO BID	1	#VALUE!	#VALUE!	1	NO BID	†	#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!	EACH	\$41.12	
163 LifePak 15 Temp Sensor	11996-000359	100	NO BID		#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$138.67	1
MONITORING EQUIPMENT	。 更大的政治的特殊的政治的一个人的	Sent Curr	e distribus color deletado	भिष्टे दिन्छ र स्टब्रिक्ट	हरिकारको किल्लाक	#VALUE!	هارمانيانيا الأهانا ال	an management to the second	纵中大战	representation of the	\$ 1,510.65		तः (१४० ०५११ ०५६)	治疗性性	- 11 - , 1 - y 1 - 0 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	\$1,394.38	16,850	હા જુઓ તમે જુદાને સમાન	**\$#17 .
164 Nail Polish Remover Pads		1000	NO BID		#VALUE!	#VALUE!	BOX	\$3,47		\$ 0.0347	\$ 34,7000		\$3.53	100	\$ 0.0353	\$ 35.3000		\$3.83	
165 Razors, Disposable	<u> </u>	50	NO BID	_1	#VALUE!	#VALUE!	BOX	\$6.65	50	\$ 0.1330	\$ 6,6500	EACH	\$0.26	1	\$ 0.2600	\$ 13.0000	IBOX	\$17.00	50

250	Sec Product Name and Sec.	Product Description	基Eel基	Unit Oface	eUnit Of	Quantity	Cost Pera	Extended	Unit Ofer	Unit Old	Quantity	Cost Per E	Extended	Unit Ofas	«Unit _i Ofa	Quantity	Cost Perm	Extended a	Unit Of	&Unit Of	Quantit
ltem			yearly useage	Unit Oface Méasure a (le box) ** case)	Measure (Cost	Measure Measure	llem	Extended Price per Seusage	Age sulfa lie looks	Measille Coal	per Measure	lam	Price per Usage	Unit Otal Measure (le box)	Measure Cost a	pe Measure	liém	0110 01 01100	Meagure (e box s	Measure. Cost #2	Measur
166	Stethoscope	Infant/Pediatric, Proscope	20		NO BID		#VALUE!	#VALUE!	EACH	\$6.08	1		\$ 121,6000	EACH	\$8.63	1	\$ 8.6300		EACH	\$4,98	1
																	· · · · · · · · · · · · · · · · · · ·				<u></u>
	Stethoscope Thermoscan	Adult, Adecope/Sprague	30		NO BID		#VALUE!	#VALUE!	EACH EACH	\$5.45 \$198.80		\$ 5.4500 \$ 198,8000	\$ 163.5000 \$ 795,2000	EACH EACH	\$5.93 \$169.27		\$ 5.9300 \$ 169,2700	\$ 177.9000 \$ 677.0800	EACH EACH	\$7.58 \$172.61	1-1-
	Thermoscan Covers		5000		NO BID		#VALUE!	#VALUE!	BOX	\$15.56		\$ 0.0778	\$ 389,0000	BOX	\$12.74		\$ 0.0637	\$ 318.5000		\$13.02	200
$Hes_{i_{1}}(i)$	MONITORING GLUCOSE		1. 16.00	Mars and and	かける	M. Medical	有可以中央的 证据	***#VALUEI*#	調をはくまた	有效的方面能力		的社会性		BARRET OF	50.00			\$ 2,875,32		24 a since \$4,50g	49 3 AV
	Blood Glucose Monitor	Precision Xtra Precision Xtra	12	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$45.00		\$ 45,0000	\$ 540,0000	EACH	\$0.01			\$142.0.1200		\$117.65	4
		MediSense	8000	 	NO BID		#VALUE!	#VALUE!	BOX EACH	\$21.63 \$8.98		\$ 0.4326 \$ 8,9800	\$ 3,460.8000 \$ 125.7200	BOX	\$17.97 NO BID	50		***2,875,2000*		\$69.40 \$51.17	50
173		50 per Box	24	l	NO BID		#VALUE!	#VALUE!	-	NO BID		#VALUE!	#VALUE!	 	NO BID			** #VALUE!		\$16.82	100
ું વ્યા	MONITORING LIFEPAK-12/15	Succession of the second	र क्रिकेट हुए विकास	ಚಿತ್ರಕ್ಕಿ ಚಿ	38.24 // 3.4	, (Fa.)	发展的 的现在分词	#VALUE!	material and a story	Assaulton.	A	Section Appearance	\$ 28,048.00	2996 Jan 18	場合計 日本	: Sala		*#VALUE!**	MINE A	a mail in rules	k .
174		Pediatric, Edge Sys Quick Combo Pad	200		NO BID		#VALUE!	#VALUE!	PAIR	\$49.28	1	\$ 49.2800	\$ 9,856.0000		NO BID		#VALUE!	#VALUE!	PAIR	\$44,37	1
175	Defibrillation Pad	Adult, Edge System, Quick Combo Pad	400		NO BID		#VALUE!	#VALUE!	PAIR	\$40.53	4	\$ 40.5300	\$ 16,212,0000		NO BID		#VALUE!	#VALUE!	PAIR	\$36.91	
	EtC02 Nasal Canula	Adult, Smart CapnoLine	200	 	NO BID		#VALUE!	#VALUE!	. /	NO BID		#VALUE	#VALUE!	 	NO BID		#VALUE!	#VALUE!	EACH	\$13.96	
177	FilterLine Set	Adult/Pediatric	200_		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$11.17	1
178		11110-000022	12		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	EACH	\$127.69	1
179		11110-000018	6	ļ	NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID		#VALUE!	#VALUE!	EACH	\$319.24	1
180 181	LifePak 12 ECG NIBP 9ft hose LifePak 12/15 Paper	11996-000033	1000		NO BID		#VALUE!	#VALUE!	EACH	NO BID \$1.98		#VALUEI \$ 1.9800	#VALUEI \$ 1,980,0000	┞───	NO BID		#VALUE!	#VALUEI	EACH BOX	\$51.87 \$9.10	5
101	NEEDLES	अविदेशकेट के के कार्य के किया है। इसकेट के किया के किया के कार्य के किया	1000	V61300 200 NRF	CONTRACTOR IN	\$10,000s.	25 July ad Ac again	#VALUE	WASH SHAW	31.90	Vijeti, 7. i žisi žirai:	# 1.9000	\$ 1,980,000	\$200 in	NO BID	and distributed	WALUE!	\$9,885.19	DUA	\$9.10	100.00
182	Angiocath	12 Ga X 3"	25	1	NO BID		#VALUE!	#VALUE!	EACH	\$16,75	1	\$ 16,7500	\$ 418.7500	вох	\$153.93	10	\$ 15.3930	\$ 384.8250		\$15.81	1
183	Bone Morrow Needle I/O	15 Ga	8		NO BID		#VALUE	#VALUE!	EACH	\$9.87	1	\$ 9.8700	\$ 78.9600	EACH	\$7.94	1	\$ 7.9400	\$ 63.5200		\$19.59	1
184		18 Ga	8		NO BID		#VALUE!	#VALUE!	EACH	\$9.87		\$ 9.8700	\$ 78.9600		\$7.94	1	\$ 7.9400			\$19.59	1
185 186		14 Ga 16 Ga	600	_	NO BID	ļ	#VALUE!	#VALUEI	BOX BOX	\$93.00 \$93.00		\$ 1.8600 \$ 1.8600	\$ 744,0000	BOX	\$86.67 \$86.67	50 50	\$ 1.7334			\$1.65	1
187		18 Ga	1500	-	NO BID		#VALUE!	#VALUE!	BOX	\$93.00			\$ 1,116,0000 \$ 2,790,0000		\$86.67	50 50		\$ 1,040.0400		\$1.65 \$1.65	
188		20 Ga	1500	 	NO BID		#VALUE!	#VALUE!	BOX	\$93.00	50		\$ 2,790,0000	BOX	\$86.67	50	\$ 1.7334			\$1,65	
189	IV Catheters Protective Plus	22 Ga	800		NO BID		#VALUE!	#VALUE!	BOX	\$93.00	50		\$ 1,488.0000	BOX	\$86.67	50	\$ 1.7334			\$1.65	1
190		24 Ga	600		NO BID		#VALUE!	#VALUE!	BOX	\$93.00			\$ 1,116.0000	BOX	\$86.67	50		\$ 1,040.0400		\$1.65	1
191	Needles OXYGEN DELIVERY	21 Ga X 1"	400		NO BID	-	#VALUE!	#VALUE!	BOX	\$3.79	100	\$ 0.0379	\$ 15.1600	BOX	\$3.24	100	\$ 0.0324		BOX	\$2.43	100
192	Aerosol Mask	Infant	100	1 - 6 % at 10 1 - 6 1 1 2	NO BID	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	#VALUEI	#VALUE!	\$8000 NO.0 \$8	NO BID	Sept. Order Sept.	#VALUE	\$ 3,787,00 #VALUE!	36036 S.E.	NO BID	ACCORDANG	#VALUE!	\$ - 4,348,20 #VALUE!	1 200 000	NO BID	A P. C
	Aerosol Mask	Pediatric	100	 	NO BID		#VALUE!	#VALUE!	CASE	\$26.00	50	\$ 0.5200	\$ 52,0000	EACH	\$0.82	1	\$ 0.8200	\$ 82,0000	EACH	\$0.45	1
194	Aerosol Mask	Adult	200		NO BID		#VALUE!	#VALUE!	CASE	\$26.00	50	\$ 0.5200	\$ 104.0000	EACH	\$0.50	1	\$ 0.5000			\$0.36	1
	BVM	Infant	12		NO BID		#VALUE!	#VALUE!	EACH	\$12.88		\$ 12.8800	\$ 154,5600	EACH	\$12,17	1	\$ 12,1700			\$14.35	1
		Pediatric Adult	12 84	<u> </u>	NO BID		#VALUE!	#VALUE!	EACH EACH	\$12.88	1	4	\$ 154,5600		\$12.17	1	\$ 12.1700			\$14.35	1 1
198	CPAP Set w/ Med Mask	P/N 313-7059X	75	 	NO BID		#VALUE!	#VALUE!	EACH	\$9.70 NO BID	1	\$ 9.7010 #VALUE	\$ 814,8840 #VALUE!	EACH	\$9.18 NO BID	1	\$ 9,1800 #VALUE!	\$ 771,1200 #VALUE!	EACH	\$11.43 NO BID	 '-
199		P/N 313-7030	75	 	NO BID	ļ	#VALUE!	#VALUE!	t	NO BID		#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE!	 	NO BID	\vdash
200		P/N 313-7043	75		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUE!	T	NO BID	
201	CPAP "T" Adapter	P/N 313-2230	75	-	NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID	
202 203	Nasal Canula Nasal Canula	Infant, non flared Pediatric, non flared	150	 	NO BID	<u> </u>	#VALUE!	#VALUEI	CASE CASE	\$16.00	50 50	\$ 0.3200 \$ 0.3200	\$ 32,0000		\$0.93	1	\$ 0.9300	\$ 93,0000		\$0.76	
204	Nasal Canula	Adult, non flared	5000	 	NO BID		#VALUE!	#VALUE!	CASE	\$16.00 \$13.00		\$ 0.3200 \$ 0.2600	\$ 48.0000 \$ 1,300.0000		\$0.93 \$0.29		\$ 0.9300 \$ 0.2900	\$ 139,5000 \$ 1,450,0000		\$0.37 \$0.25	
205	Nebulizer with Mouthpiece/Tubing	riddit, non nasto	100	 	NO BID	 	#VALUE!	#VALUE!	CASE	\$46.00		\$ 0.9200	\$ 92,0000		\$0.93	1	\$ 0.9300	\$ 93,0000		\$0.69	
206	Non-Rebreather Mask	Infant	50		NO BID		#VALUE!	#VALUE!	CASE	\$191.00	50	\$ 3.8200	\$ 191.0000		\$4.16	1	\$ 4.1600			\$0.94	
207	Non-Rebreather Mask	Pediatric	150		NO BID		#VALUE!	#VALUE!	CASE	\$38.00	50	\$ 0.7600	\$ 114,0000		\$1.33	1	\$ 1.3300			\$0.73	
		Adult	1000	<u> </u>	NO BID	-	#VALUE!	#VALUE!	CASE	\$36.50	50	\$ 0.7300	\$ 730,0000	EACH	\$0.92	1	\$ 0.9200			\$0.69	1
	OXYGEN EQUIPMENT Barbed Fitting, Plastic	(4) 中央市场的大型的大型。(4) 中央市场的大型。	20	A MANAGEMENT OF SHIPS	NO BID	4 W. S. S. S. S. S.	#VALUE	#VALUEIS	\$ \$\$ 100 \$	NO BID	ep. (ep. Trape)	#VALUEI	\$****1,835.86 #VALUE!	EACH	\$0.42	પ્લાફકેટ (જીવામાં) 1	\$ 0,4200			\$0.37	1
	D Cylinder Wrench, Plastic	<u> </u>	12	 	NO BID	 	#VALUE	#VALUE!	EACH	\$0.89	 	\$ 0.8900	\$ 10,6800	EACH	\$0.42	 	\$ 0.4200			\$0.37	
		1/8" Male NPT	6	1	NO BID		#VALUE!	#VALUE!	T	NO BID	· · · · · · · · · · · · · · · · · · ·	#VALUE!	#VALUE!	EACH	\$11.57	 	\$ 11.5700	\$ 69.4200		\$12.72	
212	Oxygen Fitting, Ohmeda	1/8" Female NPT	6		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	EACH	\$26.14	1	\$ 26.1400	\$ 156.8400		NO BID	
		0 - 15 LPM	12		NO BID	ļ	#VALUE!	#VALUE!	EACH	\$71.89		\$ 71,8900	\$ 862.6800	EACH	\$29.57	1	\$ 29.5700			\$21,18	1
	Oxygen Flow Selector Valve Oxygen Regulator, 2 DISS, 1 BARB	0 - 25 LPM	10	 	NO BID	 	#VALUE!	#VALUE!	EACH EACH	\$77,89 \$30,60	 	\$ 77.8900 \$ 30.6000	\$ 778,9000 \$ 183,6000		\$49.26 \$93.84	1 -1	\$ 49.2600 \$ 93.8400			NO BID \$28.68	,
- 13	PHARMACEUTICALS		unit the service	A 4.40 \$15 5-26.	MAR ATTACK	Approximations	SAMPLE STAN	*VALUEI	EAUH MARKET V	\$30,00	open in the second	30.5000	\$ 10,374.95		\$93.84	are action	\$ 93.8400	\$ 563.0400	CAUT	\$28.68	Jacob .
		6mg, 2ml Vial	80		NO BID		#VALUE!	#VALUE!	EACH	\$6.28		\$ 6.2800			NO BID		#VALUE!	#VALUE!		NO BID	

Product Name	Production serialism		Measure Measure	uentity per	Cost Person	e Extended Price per	Unit Orace Measure	Unit Ota Measure Costa	Quantity Siperate Measure	Cost Per a	Extended F	Unil Ofa Measure (is box.	Unit Ota C Measure Cost	uaniliy pel	Coali Para	Extended &	Unit Of a Measure		uantity pers
		Useage	le box to Cost & N	Acasure 5		Usage	(e box	Cost	Measure		Usege	(le box y	Cost	Acasure		Usage 32	(e box	Cost	Aeagure
217 Albuterol 0.083%	2.5mg, 3ml Vial	20	NO BID		#VALUE!	#VALUE!	BOX	\$4.79	25	\$ 0.1916	\$ 3.8320		NO BID		#VALUE!	#VALUE!	X8497	NO BID	
218 Amidate	40mg, 20ml Lifeshield	40	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUEI		NO BID	
219 Amiodarone	150mg, 3ml Vial	80	NO BID		#VALUE!	#VALUE!	EACH	\$6.90	1	\$ 6.9000	\$ 552.0000		NO BID		#VALUE!	#VALUE!		NO BID	
220 Alropine	1mg, 10ml Lifeshield	150	NO BID		#VALUE!	#VALUE!	DOV	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
221 Ammonia Inhalant 222 Aspirin, Chewable	10 per Box 81mg Bottle	100	NO BID NO BID		#VALUE!	#VALUEI #VALUEI	BOTTLE	\$1.12 \$0.76	10 36	\$ 0.1120 \$ 0.0211	\$ 8.9600 \$ 2,1111		NO BID		#VALUE!	#VALUE!		NO BID	
223 Atropine Sulfate	1mg, 10ml Liteshield	150	NO BID		#VALUE!	#VALUEI	EACH	\$5,45		\$ 5.4500	\$ 817,5000		NO BID		#VALUE!	#VALUE!		NO BID	
224 Galcium Chloride	1gm, 10ml Lifeshield	20	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!		NO BID	
225 Charcoal	50gm Bottle	20	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID	
226 Cyanokit 5 G Hydroxocobalamin		7	NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID	
227 Dextrose 50%	25gm, 50ml Lifeshield	150	NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID	
228 Diphenhydramine	50mg Carouject	300	NO BID		#VALUE!	#VALUE!	E 1011	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
229 Dopamine, D5W	400mg, 250mt 1ml Ampule	300	NO BID NO BID		#VALUE!	#VALUE!	EACH EACH	\$11.25 \$2.96		4 1722300	\$ 315,0000 \$ 888,0000		NO BID		#VALUE!	#VALUE!	ļ	NO BID	
230 Epinephrine, 1:1000 231 Epinephrine, 1:10,000	Lifeshield	400	NO BID		#VALUE!	#VALUE!	EACH	\$7.32			\$ 2,928,0000		NO BID		#VALUE!	#VALUE!		NO BID	
232 Furosemide	40mg, 4mi Vial	200	NO BID		#VALUE!	#VALUE!	EACH	\$1.00		\$ 1.0000	\$ 200,0000		NO BID		#VALUE!	#VALUE!	 	NO BID	
233 Glucagen	1mg	25	NO BID		#VALUE1	#VALUE!		NO BID		#VALUE1	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
234 Glutose 15	3 per Pack	80	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE1		NO BID	
235 Ipratropium Bromide 0.025%	2.5ml Vial	20	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
236 Labetalol	100mg, 20ml Vial	40	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	ļ	NO BID	
237 Lidocaine 2%	100mg, 5ml Lifeshield	60	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
238 Magnesium Sulfate 239 Metoproloi	1gm, 2ml Vial 5mg, 5ml Vial	75 80	NO BID NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
239 Metoprolol 240 Naloxone	2mg, 2ml Lifeshield	80	NO BID		#VALUE!	#VALUE!	EACH	\$18.75		\$ 18,7500	\$ 1,500,0000		NO BID		#VALUE!	#VALUE!	 	NO BID	
241 Nitroglycerin Ointment 2%	30am	10	NO BID		#VALUE!	#VALUE!	CAUIT	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	 	NO BID	
242 Nitroglycerin Tablets	0.4mg tablets	40	NO BID		#VALUE!	#VALUE!	BOTTLE	\$29,59	25	\$ 1,1836	\$ 47,3440		NO BID		#VALUE!	#VALUE!		NO BID	
243 Ondansetron	4mg, 2ml iSecure	200	NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID	
244 Propofol	10mg/ml, 50mi Vial	20	NO BID		#VALUEI	#VALUE!	EACH	\$17.59	1	\$ 17.5900	\$ 351.8000		NO BID		#VALUE!	#VALUEI		NO BID	
245 Quelicin	200mg, 10ml Vial	75	NO BID		#VALUE!	#VALUE!	EACH	\$6.65	1	\$ 6.6500	\$ 498.7500		NO BID		#VALUE!	#VALUE!		NO BID	
246 Rocuronium	10mg/ml, 10ml Vial	50	NO BID		#VALUE!	#VALUE!	EACH	\$9.95		\$ 9.9500	\$ 497.5000		NO BID		#VALUE!	#VALUE!	 	NO BID	
247 Sodium Bicarbonate 8.4%	50ml Lifeshield	100	NO BID		#VALUE!	#VALUE!	EACH	\$7.42		\$ 7.4200	\$ 742,0000		NO BID		#VALUE!	#VALUE!		NO BID	
248 Solu-Medrol 249 Terbutaline	125mg, 2ml Vial	75 80	NO BID NO BID		#VALUE!	#VALUE!	EACH	\$6,93 NO BID	1	\$ 6.9300 #VALUE!	\$ 519.7500 #VALUEI		NO BID NO BID		#VALUE!	#VALUE!	 	NO BID	
249 Terbutaline	1mg, 1ml Vial	OU STARK	PARTIES OF SECTION OF THE PARTIES OF	LEN TOTAL EN	WALUE!	**************************************	edicinates the spe	PER SECOND	Section was	*VALUE!	\$ -0.0159.03	al (traditional) in 189	A42931	ৰ্মান্ত কৰা কে	WALDE!		\$1500	K S S S S S S	0,1%11
250 Germicidal Disposable Wipes	160 per Tub	24	NO BID		#VALUE	#VALUE!	TUB	\$6.52	160	\$ 0.0408		TUB	\$5.34	160	\$ 0.0334			\$5.52	160
251 Gloves, Small	Sterling Xtra Nitrile	80	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$9.57	100	\$ 0.0957			\$10.23	100
252 Gloves, Medium	Sterling Xtra Nitrile	200	NO BID		#VALUE	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$9.57	100	\$ 0.0957			\$10.23	100
253 Gloves, Large	Sterling Xtra Nitrile	500	NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	BOX	\$9.57	100	\$ 0.0957			\$10.23	100
254 Gloves, X-Large	Sterling Xtra Nitrile	400	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI	BOX	\$9.57	100	\$ 0.0957			\$10.23	100
255 Mask, Molded Pre-Formed 256 N95 Respirator	P/N 9211	100	NO BID NO BID		#VALUE!	#VALUE!	BOX BOX	\$4.70 \$15.39	50 10	\$ 0.0940 \$ 1.5390	\$ 9.4000 \$ 43.0920	BOX EACH	\$3.69 \$2.34	50 1	\$ 0.0738 \$ 2.3400		CASE	\$71.42 \$182.42	1000 120
257 O. B. Kits, Latex Free	F/N 3211	14	NO BID		#VALUE!	#VALUE!	EACH	\$6.10	- '' -	\$ 6,1000	\$ 85.4000	EACH	\$4.11		\$ 4,1100			\$4.89	1
258 Protective Gown	 	14	NO BID		#VALUE!	#VALUE!	CASE	\$16.50	50	\$ 0.3300	\$ 4,6200	PACK	\$3,67	10	\$ 0.3670			\$10.62	15
	1	1	T					1								1	T		
1 1		1		1			l	1								1			
260 Protective Shoe Covers		14	NO BID		#VALUE!	#VALUE!	CASE	\$9.25	150	\$ 0.0617		CASE	\$15.74	150	\$ 0.1049		CASE	\$13.79	300
261 Protective Sleeves	<u> </u>	28	NO BID	-	#VALUE!	#VALUE!	CASE	\$13.12	100	\$ 0.1312	\$ 3.6736	BOX	\$47.56	100	\$ 0.4756			\$70.80	200
262 Quick Care Hand Sanitizer	7 oz	50	NO BID NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$42.87 NO BID	12	\$ 3.5725 #VALUE!	\$ 178.6250 #VALUE!	CASE	\$53.46	12
263 Quick Care Holder 264 Safety Glasses	7 oz Meets ANSI 287.1	10	NO BID		#VALUE!	#VALUE!	BOX	NO BID \$11.00	10	\$ 1.1000	\$ 11,0000	EACH	\$1.31	1	\$ 1.3100			No Charge \$3.15	12
264 Salety Glasses	Meets ANSI ZO7.1				**ALUE	***#VALUE!**	Service of	2000000		# 1,1000 # 2,1000	\$ 297.50		55.31.38741	10.150 ESSAGE	2 1.3100			93.13	Arejaja (Na.)
265 Bulb Syringe	2 Ounce	10	NO BID		#VALUE!	#VALUE!	EACH	\$0.88	1	\$ 0.8800	\$ 8.8000		\$0.31	1	\$ 0.3100			\$0.31	1
266 Meconium Aspirator	1 11111	10	NO BID		#VALUE!	#VALUE!	EACH	\$3.97	1	\$ 3.9700	\$ 39.7000		\$3.93	1	\$ 3.9300		EACH	\$4,24	1
267 Nasogastric Tube	8 FR	20	NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$6.13	1
268 Nasogastric Tube	12 FR	20	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$2.16	1	\$ 2.1600			\$1.75	1
269 Nasogastric Tube	16 FR	20	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$2.16	1	\$ 2,1600			\$1.75	1
270 Safe-T-Vac Suction Catheter	5 FR	20	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID		#VALUE!	#VALUE!	EACH	\$0.17	
271 Safe-T-Vac Suction Catheter	10 FR 14 FR	20	NO BID NO BID		#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE!	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$0.17 \$0.17	
272 Safe-T-Vac Suction Catheter 273 Safe-T-Vac Suction Catheter	18 FR	20	NO BID		#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE	 	NO BID		#VALUE!	#VALUE!	EACH	\$0.17	
274 Suction Canister	1200cc	60	NO BID		#VALUE!	#VALUE!	EACH	\$3.09	1	\$ 3.0900	\$ 185.4000	EACH	\$3.01	1	\$ 3.0100			\$2.63	- i - l
		1	1				-								V			7	

	Product Name controls	MProduct Description	康 島島港	Unit Olav	No linus	Quantity	Cost Pera	Extended	Unit Of	#Unit Otal	Quantity	Coal Per w	Extended	Unit Of a	#Unit _O ()	Quantity	-Cost Perse	Extended	Unit Of the	*Unit Ola	Quantity
2.4			Yearly.	Measure	Maasure	基 Per模	Hemila	Price per	Market 197	Moasu (g	要Pele	tempes	Price per	Measure	Measure		llom.	all the period	Measure	Measure	数per 練
item			USOS DE	(IE DOX	SALOEL S	Magazura			III DOX		MIDASUTE STANSON &		Usage	1001	TO SEC	Measure		W.L.	L DOX	LOS	Measure
275	Suction Tubing	1/4" X 6'	60		NO BID		#VALUE!	#VALUE!	CASE	\$33,50	50	\$ 0.6700	\$ 40.2000	EACH	\$0.77	1	\$ 0.7700	\$ 46,2000	EACH	\$0.75	1
276	Yankauer Suction Tip	With Control Vent	60		NO BID		#VALUE!	#VALUE!	EACH	\$0.39	1	\$ 0.3900	\$ 23,4000	EACH _	\$0.38	1	\$ 0.3800	\$ 22,8000	EACH	\$0.36	1
100	SYRINGES > **	friends applicable to the second	資金をある	200 0年 1200年 120	40年47年次	奏を大きる	美国安全的基础的	****WALUEI	Marie Was	※ 大きながら	Property living	ないなるを変す	\$35559124110	のはなのととう	和一种研究實	SHOWN TH	海どの大の間では大	\$20 WX101/54	张克 尔 / 读	のをよりる場合	是被扩大方面
277	Mucosal Atomization Device (MAD)	(w/a syringe)	20		NO BID		#VALUE!	#VALUE!	EACH	\$3.90	1	\$ 3.9000	\$ 78.0000	EACH	\$3.19	1	\$ 3.1900	\$ 63.8000	EACH	\$3.29	1
278	Syringe, Luer Loc	20mt	60		NO BID		#VALUE!	#VALUE!	BOX	\$12.36	50	\$ 0.2472	\$ 14.8320	BOX	\$10.71	50	\$ 0.2142	\$ 12,8520	BOX	\$20.30	100
279	Syringe, Luer Loc	60ml	60		NO BID		#VALUE!	#VALUE!	BOX	\$11.88	25	\$ 0,4752	\$ 28.5120	BOX	\$10.37	25	\$ 0,4148	\$ 24,8880	BOX	\$11.92	25
		1ml 27 Ga X 1/2"	30		NO BID		#VALUE!	#VALUE!	BOX	\$9.20	100	\$ 0.0920	\$ 2.7600		NO BID		#VALUE!	#VALUE!	BOX	\$17.77	100
ords.	TWINPAK	distribution of the second	会はなどあ	発性 在 ここの	STATE STATE	Section of Contact	ない。本文なる意	**************************************	Mariette cui	100 miles	4. A. S.	学校学会会会会会会会	\$***1,928.80	Mary Co.	(三)できるの事	电影 医	ST PART OF	\$ 41,665.68	での概念。つき	A 1984 A 1	の方面の
281	TwinPak	P/N 303390	4000		NO BID		#VALUE!	#VALUE!	BOX	\$48.17	100	\$ 0.4817	\$ 1,926.8000	BOX	\$39.89	100	\$ 0.3989	\$ 1,595.6000	BOX	\$41.12	100
		P/N 303391	50		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$43.82	100	\$ 0.4382	\$ 21,9100	CASE	\$361.48	800
283		P/N 303392	50		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$46.71	100	\$ 0.4671			\$192.65	400
284	TwinPak with Syringe, 10ml	P/N 303393	50		NO BID	1	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$49.62	100	\$ 0.4962	\$ 24.8100	CASE	\$204.65	400

^{**}Twinpaks no longer used so not being awarded Recommended Vendor

ical Supply				Boundtre	e Medical			Keni	ron Heal	th Care Inc				Quadme	d. Inc			H	enry Sch	ein Inc	
&Cost Per E	xtended Price	Unit Of	Unition	Quantity	CostiPeras	Extended Price	Unit Of	Alloli Otak	mantho!	CoatiPer	Extended	Unition &	Unition	Quantity	CostPer	Extended	Unicola	&Unitrofal C	UNDUIN!	Coal Pera	Extended
Low I		(closs	Ulmin	學學	100	්වා ලකුව	Measure			lina	(Price(ps))	Moasura	Measuro		light -	Priceiper	Maasule (a)box	Oguc,	inte Litter	licin	Price pers
			Con		建筑的						QCQ!						ണം		- Security	and the same of the same	No. of the last of
		***	NAME OF STREET				書きているか	interior of the			\$ 40 2 13117A	金属を変かる				\$44.3,863.34				CHARLEST COMM	
\$ 0.1426	1.7112		\$0.70		\$ 0.1400	\$ 1.6800		\$6.75		\$7600:1350		EACH	\$0.21		\$ 0.2100 \$ 0.2100	\$ 2.5200		\$0.14		\$ 0.1400	\$ 1.68
\$ 0.1426	\$ 1.7112 \$ 2.2816	PACK	\$0.70 \$0.70	5 5	4 017 100	\$ 1.6800 \$ 2.2400		\$6.75 \$6.75		\$ 00001350		EACH FACH	\$0.21 \$0.21		\$ 0.2100 \$ 0.2100	\$ 2.5200 \$ 3.3600		\$0.26 \$0.13	+++	\$ 0.2600 \$ 0.1300	\$ 3.12 \$ 2.08
\$ 0.1426	\$ 2.8520		\$0.70	5	\$ 0.1400		BOX	\$6.75	50	(\$ 1400(1350) (\$ 1400)1350	\$ 2.7000	EACH	\$0.21		\$ 0.2100		EACH	\$0.26	1	\$ 0.2600	\$ 5.20
\$ 0.1426	\$ 2,8520		\$0.70	5	\$ 0,1400			\$6.75	50	\$100.1350	\$ 排版第2,7000	EACH	\$0.21		\$ 0.2100		EACH	\$0.14	1	\$ 0.1400	\$ 2.80
\$ 0.1426	\$ 2,8520 \$ 1,7112		\$0.70 \$0.70	5 5	\$ 0.1400 \$ 0.1400	\$ 2.8000 \$ 1.6800		\$6.75 \$6.75		\$100001350/ \$10001350/		EACH EACH	\$0.21 \$0.21		\$ 0.2100 \$ 0.2100	\$ 4,2000 \$ 2,5200		\$0,14 \$0.14	1	\$ 0.1400 \$ 0.1400	\$ 2.80 \$ 1.68
\$ 0.1426 \$ 0.1426	\$ 1.7112		\$0.70	5	\$ 0.1400		BOX	\$6.75		\$400.1350		EACH	\$0.21		\$ 0.2100		EACH	\$0.14			\$ 1.68
\$ 4.0300	\$ 403.0000		NO BID	<u>-</u>	#VALUE!		BOX	\$5.90	10	\$ 1800.5900	\$50,0000	BOX	\$14.91		\$ 1.4910	\$ 149.1000		\$0.88	1	\$ 0.8800	\$ 88.00
\$ 3.4400			\$1.41	1	\$ 1.4100	\$ 141,0000		\$5.90		(\$ 900 0,5900)		BOX	\$14,91		\$ 1.4910		EACH	\$0.88	1	\$ 0.8800	\$ 88.00
\$ 1,4000	\$ 140,0000 \$ 140,0000		\$1.41		\$ 1.4100 \$ 1.4100	\$ 141,0000 \$ 141,0000	BOX BOX	\$5.90 \$5.90		\$ 000000			\$14.91 \$14.91		\$ 1.4910 \$ 1.4910	\$ 149,1000 \$ 149,1000		\$0.88		\$ 0.8800 \$ 0.8800	\$ 88.00 \$ 88.00
\$ 1.4000 \$ 1.4000		EACH	\$1.41 \$1.41		\$ 1.4100 \$ 1.4100	\$ 141,0000 \$ 141,0000		\$5.90			\$ 19(8) 59,0000		\$14.91		\$ 1.4910	\$ 149,1000		\$0.88		\$ 0.8800	
\$ 1,4000		EACH	\$1.41	1	\$ 1.4100	\$ 141.0000		\$5.90	10	\$ \$60.5900	\$9.0000	BOX	\$14.91		\$ 1.4910	\$ 149.1000		\$0.88	1	\$ 0.8800	\$ 88.00
\$ 1,4000	\$ 140.0000		\$1.41		\$ 1.4100	\$ 141,0000		\$5.90		\$440.5900			\$14.91	10	\$ 1.4910	\$ 149,1000		\$0.88	1	\$ 0.8800	
\$ 1.4300 \$ 1.4300	\$ 143.0000 \$ 143.0000		\$1.41 \$1.41		1	\$ 141.0000 \$ 141.0000		\$6.70 \$6.70	10 10	\$###0.6700: \$###0.6700:	\$96 67.0000	BOX	\$14.91 \$14.91		\$ 1.4910 \$ 1.4910	\$ 149.1000 \$ 149.1000	EACH EACH	\$0.93 \$0.93	1	\$ 0.9300 \$ 0.9300	\$ 93.00 \$ 93.00
\$ 1,4300		EACH	\$1.41	 	\$ 1,4100			\$6.70	10	\$ 700,6700	\$ 2100.5000	BOX	\$14.91		\$ 1,4910		EACH	\$0.93		\$ 0.9300	\$ 139.50
\$ 1,4300		EACH	\$1.41	i	\$ 1,4100			\$6.70			\$ 100.5000	BOX	\$14.91		\$ 1.4910	\$ 223.6500		\$0.93	1	\$ 0.9300	
\$ 1.4300	\$ 214,5000		\$1.41	1	\$ 1.4100	\$ 211,5000		\$6.70			\$59100,5000	BOX	\$14.91		\$ 1.4910	\$ 223.6500		\$0.93	1	\$ 0.9300	\$ 139.50
5 1.4300		EACH	\$1.41	1	\$ 1.4100	\$ 211.5000		\$6.70		\$150.6700		BOX	\$14.91		\$ 1.4910	\$ 223.6500		\$0.93	1	\$ 0.9300	
\$ 1.4300 \$ 1.4300	\$ 143,0000 \$ 143,0000	EACH	\$1.41 \$1.41		\$ 1.4100 \$ 1.4100			\$6.70 \$6.70	10	\$ 40.6700	\$50 67,0000	BOX BOX	\$14.91 \$14.91		\$ 1.4910 \$ 1.4910	\$ 149,1000 \$ 149,1000		\$0.93		\$ 0.9300	
\$ 1,5100	\$ 60,4000		\$1,20	 	\$ 1,2000			\$12.90		\$ 112900		BOX	\$17.43		\$ 1.7430			\$1.87	i	\$ 1,8700	
\$ 1.5100	\$ 60,4000		\$1.20	1	\$ 1.2000		BOX	\$12.90	10	1\$ mag1 2900	\$404.51.6000	BOX	\$23.86		\$ 2.3860	\$ 95,4400		\$1.87	1	\$ 1.8700	
\$ 1.5100	\$ 60,4000		\$1,20	1	\$ 1.2000			\$12.90			\$ \$44.51.5000		\$23.86		\$ 2,3860			\$2.58	1	\$ 2.5800	
\$ 1.5100	\$ 60,4000		\$1.20	1	\$ 1.2000			\$12,90	10		\$3000		\$23.86		\$ 2.3860	\$ 95.4400		\$2,51	- 1	\$ 2.5100 \$ 2.2800	
\$ 1.5100 \$ 1.5100	\$ 60.4000 \$ 60.4000	EACH EACH	\$1.20 \$1.20	1	\$ 1.2000 \$ 1.2000	\$ 48.0000 \$ 48.0000		\$12.90 \$12.90	10		\$36251.6000 \$36251.6000	BOX	\$14.79 \$14.79		\$ 1.4790 \$ 1.4790	\$ 59.1600 \$ 59.1600		\$2.28 \$2.26	-	\$ 2.2600	
\$ 1.5100	\$ 120,8000	EACH	\$1.20	1	\$ 1.2000	\$ 96.0000		\$12.90	10		\$ 103.2000	BOX	\$14.79	10	\$ 1,4790	\$ 118.3200		\$2.27	1	\$ 2.2700	
\$ 1,5100	\$ 120,8000		\$1,20	1	\$ 1,2000	\$ 96,0000		\$12.90	10		\$ 44103,2000		\$14.79		\$ 1.4790	\$ 118.3200	EACH	\$2,27	1	\$ 2.2700	
\$ 1.5100	\$ 120.8000		\$1.20	1	\$ 1.2000			\$12.90	10		\$64103.2000		\$14.79	10	\$ 1,4790	\$ 118.3200	EACH	\$2.27	1	\$ 2.2700	\$ 181.60
\$ 1.5100 \$ 1.5100	\$ 120.8000 \$ 120.8000		\$1.20 \$1.20		\$ 1,2000 \$ 1,2000	\$ 96,0000 \$ 96,0000	BOX	\$12.90 \$12.90	10		\$16103.2000 \$16103.2000		\$14,79 \$14,79	10	\$ 1,4790 \$ 1,4790	\$ 118.3200 \$ 118.3200	EACH	\$2.26 \$2.27	1	\$ 2.2600 \$ 2.2700	\$ 180.80 \$ 181.60
\$ 1,5100	\$ 120,8000		\$1.20	1-1-	\$ 1,2000	\$ 96,0000		\$12.90	10		\$44103:2000		\$14.79		\$ 1.4790	\$ 118.3200		\$2.27	1	\$ 2.2700	
	\$ 120,8000		\$1.20	1	\$ 1.2000	\$ 96,0000	BOX	\$12.90	10		\$40103.2000		\$14.79	10	\$ 1.4790	\$ 118.3200		\$2.27	1	\$ 2.2700	
		を作るなる	A TOP OF THE SAME	MARKET COM		\$:::028.28		经的各种的		SECTION AND PARTY.			***	40 M	事的1900年7日第二日		MISH MA			京 國子原於 海水東	
\$ 0.3000 \$ 3.8700	\$ 4.8000 \$ 232,2000	EACH	\$0.23 \$3.85			\$ 231.0000		\$1.80 \$57.00	10 20	\$ 0.1800 \$ 2.8500	\$ 2,8800 \$ 171,0000	BOX	\$0,46 \$55,19	10	\$ 0.4600 \$ 5,5190	\$ 7.3600 \$ 331,1400	PACK EACH	\$2.30 \$7.17	10	\$ 0.2300 \$ 7,1700	\$ 3.68 \$ 430.20
\$ 0.0415		BOX	\$5,76	144		\$494488.0000	BOX	\$5,95	144	\$ 0.0413	\$ 8,2639	BOX	\$5.84	144	\$ 0.0406	\$ 8,1111	BOX	\$5.76	144	\$ 0.0400	\$ 430,20
\$ 3.6935		EACH	\$1.93	1		\$1996838,6000	1	75.50		#DIV/0!	#DIV/0!		NO BID		#REF!	#REF!	EACH	\$3.30	1	\$ 3.3000	\$ 66.00
\$ 2.6600	\$ 266,0000	EACH	\$2.49	1		E\$409249.0000	EACH	\$4.25	1	\$ 4.2500	\$ 425.0000	EACH	\$3.33	1	\$ 3.3300	\$ 333.0000		\$2.59	1	\$ 2.5900	\$ 259.00
\$ 2.6600	\$ 532,0000	EACH	\$2.49	1		\$498,0000		\$4.25	1	\$ 4.2500	\$ 850,0000	EACH	\$3.33	Audino com	\$ 3.3300	\$ 666.0000		\$2.60	1 Expensión	\$ 2.6000	\$ 520.00
#VALUEI	#VALUEI	EACH	\$29.80	di 1		\$ 281192.0000	网络大学 中央 17	NO BID	Bran Halanda	#VALUE!	***#VALUE!辩	EACH	\$30.95	বাংক্রেজ্বলক্ষ্	\$ 30.9500	\$ 0.000 \$ 1,238.0000	A CARL LCANE	NO BID	なるのではない。	#VALUE!	#VALUE!
#VALUE!	#VALUE!	EACH	\$29.80	1		\$201,192,0000	\vdash	NO BID		#VALUE!	#VALUE!	EACH	\$30.95	1	\$ 30.9500	\$ 1,238.0000	 	NO BID		#VALUE!	#VALUE!
#VALUE!	#VALUE!	EACH	\$31.92	1	\$:431.9200	/\$#1,276.8000		NO BID		#VALUE!	#VALUE!	EACH	\$30.95	1	\$ 30.9500	\$ 1,238.0000		NO BID		#VALUE!	#VALUE!
#VALUE!	#VALUE!	EACH	\$31.92	1		\$ 2,553.6000		NO BID		#VALUE!	#VALUE!	EACH	\$30.95	1 1	\$ 30,9500	\$ 2,476.0000	ļ	NO BID		#VALUE!	#VALUE!
#VALUEI	#VALUE!	EACH	\$31.91	for his area		\$ 2,552,8000	A STATE OF THE STA	NO BID	Fords & St	#VALUE!	#VALUE!	EACH	\$30.95	Sand Care	\$ 30.9500	\$ 2,476.0000	45.90 Section	NO BID	NA STANK	#VALUE!	#VALUE! \$*** 2.513.28
	THINGS	(C. m. release)	777797657				1	Co. 1 of children in	- 12 - PK 35/5	THE OWNER OF THE PERSON	4 13 000.W	7,700 7,750,48	27/25/64/2008		A PARTY NAME OF	- TATALOLISE					
#VALUEI	#VALUE!	EACH	\$7.00	1	\$ 7,0000	\$ 42,0000	EACH	\$5.95	1	\$ 5.9500	\$ 35,7000	L	NO BID		#VALUE!	#VALUE!	EACH	\$19.04	11	\$ 19.0400	\$ 114.24
#VALUE!	#VALUE!	EACH	\$7,00		\$ 7.0000	\$ 84,0000	EACH	\$5.95		\$ 5.9500	\$ 71,4000		NO BID		#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19.0400	\$ 228.48
#VALUE!	#VALUE!	EACH	\$7.00 \$7.00		\$ 7.0000			\$5,95 \$5,95	- 1	\$ 5.9500 \$ 5.9500	\$ 71.4000 \$ 71.4000		NO BID	 	#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19.0400 \$ 19.0400	
#VALUE!	#VALUE!	EACH	\$7.00		\$ 7.0000		EACH	\$5,95		\$ 5.9500	\$ 71.4000	 	NO BID	 	#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19.0400	
#VALUE!	#VALUE!	EACH	\$7.00	1	\$ 7.0000	\$ 42,0000	EACH	\$5,95		\$ 5.9500	\$ 35.7000		NO BID		#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19.0400	\$ 114.24
#VALUE!	#VALUEI	EACH	\$7.00	1	\$ 7,0000		EACH	\$5.95	1	\$ 5.9500	\$ 71,4000	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19,0400	\$ 228,48
#VALUE!	#VALUE!	EACH	\$7.00)i 1	\$ 7,0000	\$ 84,0000	1EACH	\$5.95	1	\$ 5,9500	\$ 71,4000	1	NO BID	1	#VALUE!	#VALUEI	EACH	\$19.04	1	\$ 19,0400	\$ 228,48

Cost Peris	Extended Price	Unilio/ Venturi	Unit Of	Quantity per	Cost:Peris	xtended Price per Vesge	Unit O(s) Meastire	eUnit Of a Measure	Quantity Der	Ca HP.07	Extended a Price pers	Unit Ofes Measuro	Unit Of Measure Cost	Quantily per	Cost Perio	Extended a	Unit Office Meanure	United Meadyte	evanility (23)	CootiPer e	Extended a Price per 3
		e box case	SECTION SEC	Measure	SECONDARY SECTION	Control of the Control	Case Same		Meastire		Usaço	(0 bo s		Measure Straight		Usage A	(elbox	Cost	102117		Usage
#VALUE1	#VALUE!	EACH EACH	\$7.00		\$ 7.0000 \$ 7.0000	\$ 84.0000 \$ 84.0000	EACH EACH	\$5.95		\$ 5,9500 \$ 5,9500	\$ 71.4000 \$ 71.4000		NO BID		#VALUE!	#VALUE!	EACH	\$19.04 \$19.04	1	\$ 19.0400 \$ 19.0400	\$ 228.48 \$ 228.48
#VALUE!	#VALUEI	EACH	\$7.00 \$8.45		\$ 7.0000 \$ 8.4500		EACH	\$5.95 \$7.95		\$ 7,9500	\$ 95,4000		NO BID		#VALUE!	#VALUE!	EACH	\$19.04	1 1	\$ 19.0400	\$ 228.48
#VALUE!	#VALUE!	EACH	\$8.45		\$ 8.4500		EACH	\$7.95	1	\$ 7.9500	\$ 95.4000		NO BID		#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19.0400	\$ 228.48
STATISTICS	\$4.410,159.99	**	STATE OF				CONCUMOR.	MARKET		あったの見る主義	\$346,388112	的	N. PARTIES	を行うが	1000年前4月1日	\$5**5,849.29	tions and	MACHENIA !		encommen	
\$ 0.3273	\$ 65.4667	CASE	\$9.82	30	\$ 0.3273		CASE	\$9.30	30	\$ 0.3100		80X	\$9.88	30	\$ 0.3293		BOX	\$22.50	30	\$ 0.7500	\$ 150.00
\$ 0.6347 \$ 0.0089	\$ 130.1181 \$ 2.2250	BAG BAG	\$22.29 \$2,39	36 200	\$ 0.6192 \$ 0.0120		CASE CASE	\$19.80 \$47.90	36 4000	\$ 0.5500 \$ 0.0120	\$ 112,7500 \$ 2,9938	PACK	\$23.68 \$2.57	36 200	\$ 0.6578 \$ 0.0129	\$ 134.8444 \$ 3.2125	PACK	\$48.96 \$4.00	200	\$ 1,3600 \$ 0,0200	\$ 278.80 \$ 5.00
\$ 0.0248	\$ 4.9600	PACK	\$0.05		\$ 0.0250		CASE	\$34.90	1200	\$ 0.0120		BOX	\$1.26		\$ 0.0504	\$ 10,0800	PACK	\$1.50	50	\$ 0.0300	\$ 6.00
\$ 0.0795	\$ 1.9875	PACK	\$1.78	20	\$ 0.0890		CASE	\$38.90	400	\$ 0.0973	\$ 2.4313	BOX	\$2.26		\$ 0.1130	\$ 2.8250	BOX	\$3.00		\$ 0.1200	\$ 3.00
\$ 0.1325	\$ 3.3125	TRAY	\$0.14		\$ 0.0117		CASE	\$34.80	240	\$ 0.1450		BOX	\$3.33		\$ 0.2775	\$ 6.9375	BOX	\$3.20	20	\$ 0.1600	
\$ 0.1317	\$ 3,2917	EACH	\$0.14	1	\$ 0.1400		CASE	\$49.69	360	\$ 0.1380	\$ 3.4507	BOX	\$3.94		\$ 0.1642	\$ 4.1042	BOX	\$3.20	20	\$ 0.1600	
\$ 9.5500 \$ 0.0130	\$ 477,5000 \$ 13,0000	EACH BOX	\$9.12 \$1.73	100	\$ 9.1200 \$ 0.0173	\$ 456.0000 \$ 17,3000	BOX	\$91.89 \$1.30	100	\$ 9.1890 \$ 0.0130	\$ 459.4500 \$ 13,0000	EACH BOX	\$9.30 \$1.81		\$ 9.3000 \$ 0.0181	\$ 465.0000 \$ 18.1000	EACH BOX	\$9.27 \$2.00		\$ 9.2700 \$ 0.0200	\$ 463.50 \$ 20.00
\$ 1,2900	\$ 77,4000	EACH	\$2.34		\$ 2,3400	\$ 140,4000		\$35.76	24	\$ 1,4900	\$ 89,4000	EACH	\$2.64	1	\$ 2.6400	\$ 158,4000	EACH	\$1.66	1	\$ 1.6600	
\$ 0.3896	\$ 116.8750	CASE	\$6.23	24	\$ 0.2596	\$ 77.8750	CASE	\$10.90	24	\$ 0.4542	\$ 136.2500	CASE	\$9.95	24	\$ 0.4146	\$ 124,3750	CASE	\$6.48	24	\$ 0.2700	\$ 81.00
\$ 0.1900	\$ 190.0000	BAG	\$2.25		\$ 0.1875		BOX	\$1.61	12	\$ 0.1342	\$ 134.1667	BOX	\$2.47		\$ 0.2058	\$ 205,8333	BOX	\$1.32	12	\$ 0.1100	\$ 110.00
\$ 0.2367	\$ 236,6667	EACH	\$0.21		\$ 0.2100		BOX	\$1.79	12	\$ 0.1492	\$ 149.1667	BOX	\$1.61		\$ 0.1342	\$ 134.1667	BAG	\$2.04	12	\$ 0.1700	
\$ 0,1183 \$ 0,0732	\$ 118.3333 \$ 4.3920	BOX PACK	\$1.33 \$3.76	12 50	\$ 0.1108 \$ 0.0752	\$ 110.8333 \$ 4.5120	BOX	\$1,39 \$3,45	12 50	\$ 0.1158 \$ 0.0690	\$ 115.8333 \$ 4.1400	BOX	\$1.20 \$4.12		\$ 0.1000 \$ 0.0824	\$ 100.0000 \$ 4,9440	BAG	\$1.08 \$7.50	12 50	\$ 0.0900 \$ 0.1500	
\$ 0,5654	\$ 141,3542	BOX	\$6.23	24	\$ 0.2596	\$ 64.8958		\$11.90	24	\$ 0.4958	\$ 123.9583	CASE	\$12.95		\$ 0.5396	\$ 134,8958	CASE	\$6,48	24	\$ 0.2700	
\$ 55.0000	\$ 5,500.0000	EACH	\$0.86	1	\$ 0.8600	\$ 86.0000	CASE	\$13.08	12	\$ 1.0900	\$ 109.0000	EACH	\$0.79		\$ 0.7900	\$ 79.0000	CASE	\$4.44	12	\$ 0.3700	
#VALUE!	#VALUE!	EACH	\$26.50		\$ 26.5000	\$ 1,325.0000		\$39.95	1	\$ 39.9500	\$ 1,997.5000	EACH	\$23.39	1	\$ 23.3900	\$ 1,169.5000	EACH	\$46.49	1	4 /01/1000	\$ 2,324.50
\$ 0.7500	\$ 37.5000	EACH	\$0.91		\$ 0.9100	\$ 45.5000		\$36.19	50	\$ 0.7238	\$ 36.1900	EACH	\$1.08	1	\$ 1.0800	\$ 54.0000	EACH	\$0.86	1	\$ 0.8600	\$ 43.00
\$ 0.6176 \$ 0.8408	\$ 61.7600 \$ 840.8333	BOX BOX	\$16.15 \$12.87	25 12	\$ 0.6460 \$ 1.0725	\$ 64.6000 \$ 1,072,5000	BOX	\$5.39 \$9.48	10 12	\$ 0.5390 \$ 0.7900	\$ 53.9000 \$ 790.0000	PACK BOX	\$7.37 \$9.82	12	\$ 0.6142 \$ 0.8183	\$ 61,4167 \$ 818,3333	BOX	\$0.59 \$11.04	12	\$ 0.5900 \$ 0.9200	\$ 59.00 \$ 920.00
\$ 0.2925	\$ 146,2500	BOX	\$3.65		\$ 0,3042		BOX	\$3,10	12	\$ 0.7900	\$ 129,1667	BOX	\$3,22		\$ 0.2683	\$ 134,1667	BOX	\$4,32	12	\$ 0.3600	
\$ 1.6817		BOX	\$12.87	6	\$ 2,1450		BOX	\$9.48	6	\$ 1.5800	\$ 1,580,0000	BOX	\$9.82	6	\$ 1.6367	\$ 1,636,6667	BOX	\$10.98	6	\$ 1.8300	
\$ 0.5850	\$ 292.5000	BOX	\$3.42	6	\$ 0.5700		BOX	\$3.10	6	\$ 0.5167	\$ 258.3333	BOX	\$3.71	6	\$ 0.6183	\$ 309.1667	BOX	\$4.26	6	\$ 0.7100	
\$ 0.2100	\$ 12.6000	EACH	\$0.20	1	\$ 0.2000		PACK	\$3.12	12	\$ 0.2600	\$ 15.6000	PACK	\$2.59	12	\$ 0.2242	\$ 13.4500		\$0.24	1	\$ D.2400	\$ 14.40
1000年代後	\$ 16.00 2,437.96	基本的特別的	A. A. S.	Action of the State of		\$ \$2,265.08	的现在分词	Sales Services	in a serie filler	ACTIVITY OF THE PERSON	\$* 942.00	4 64 CA	An appear	April 1989		\$ 2,620.31	My saided	A THE PERSON	を かい は 、 本		\$ 2,396.06
\$ 1.3780 \$ 0.4140	\$ 1.3780 \$ 82.8000	EACH	\$1.70 \$0.93			\$ #7# ##1(7000 \$ \$ ###188,0000	BOX	NO BID \$9,36	24	#VALUE! \$ 0.3900	#VALUE! \$ 78.0000	CASE EACH	\$87.72 \$0.75	50	\$ 1.7544 \$ 0.7500	\$ 1.7544 \$ 150,0000		\$144.00 \$1.17	100	\$ 1.4400 \$ 1.1700	\$ 1.44 \$ 234.00
\$ 0.0970	\$ 194,0400	EACH	\$0.08	1		\$20,0000	BOX	\$16.90	200	\$ 0.0845	\$ 169,0000	CASE	\$82.13	500	\$ 0.1643	\$ 328.5200		\$12,00	100	\$ 0.1200	\$ 240.00
\$ 0.2526	\$ 252.6400	CASE	\$45.00	250		\$19:0180.0000		NO BID		#VALUEI	#VALUE!	CASE	\$80.84	250	\$ 0.3234	\$ 323,3600		\$2,30	10	\$ 0.2300	\$ 230.00
\$ 1,6400		EACH	\$1.55	1		多种4775.0000	CASE	\$139.00	100	\$ 1.3900	\$ 695,0000	EACH	\$1.64	1	\$ 1.6400	\$ 820.0000	EACH	\$1.55	1	\$ 1.5500	\$ 775.00
\$ 1.6800 \$ 8.6300	\$ 100.8000 \$ 863,0000	CASE	1.57 \$79.89	10		\$160,4194,2000	ļ	NO BID		#VALUE!	#VALUEI	EACH	\$1.46	1	\$ 1.4600	\$ 87.6000	-	NO BID		#VALUE!	#VALUE1
\$ 20.5500	\$ 123,3000	EACH	\$9.88	10		\$****59.2800	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$8,48 \$10,18		\$ 8.4800 \$ 10.1800	\$ 848.0000 \$ 61.0800		\$8.00 \$96.35	- 1	\$ 8.0000 \$ 19.2700	\$ 800.00 \$ 115.62
#DIV/OI	\$ 9,608,40	AND PROPERTY.	WOOD WAY	Merchan		\$44%7,815.00	Secretary and		1975 · 中心海绵	MANAGERIA - LES	\$ 7,331.50	esta espera	microstrate.	A MENNEN	经验证的	\$ 9,591.50		SECOND AND AND	No. Annual	8.00	\$*12,230.50
\$ 6.6790	\$ 667.9000	CASE	\$45.25	10	\$ 1044.5250	\$464452.5000		NO BID		#VALUEI	#VALUEI	EACH	\$5.49	1	\$ 5.4900	\$ 549.0000	EACH	\$4.73	1	\$ 4.7300	\$ 473.00
\$ 1.1500	\$ 2,300.0000	EACH	\$1.60	1		\$43,200.0000	CASE	\$38.16	24	\$ 1.5900	\$ 3,180,0000	EACH	\$1.68	1	\$ 1.6800	\$ 3,360.0000		\$3.70	1	\$ 3.7000	\$ 7,400.00
\$ 1.2146	\$ 6,073.0000 \$ 567.5000	CASE EACH	\$35.40 \$2.49	50		\$##3,540.0000 \$###622.5000	CASE	\$37.29 \$40.56	50 24	\$ 0.7458 \$ 1.6900	\$ 3,729.0000 \$ 422.5000	CASE EACH	\$51.30 \$2.21	50	\$ 1.0260 \$ 2.2100	\$ 5,130.0000 \$ 552,5000	PACK EACH	\$4.10 \$1.03	5	\$ 0.8200 \$ 1.0300	\$ 4,100.00
\$ 2.2700 00/49/05/09/49/99	\$ 367.5000	EACH WAR	\$2,49 \$2,60080	desire South	SOCIAL SOCIAL	\$ \$660,2,795,40	DASE	340.06	24	\$ 1.0900	\$ 422.5000 \$**#VALUE	EACH BURN	\$2.21	At March	\$ 2.2100	***#VALUE	EACH NO	\$1.03	500 PM 000	\$ 1.0300	\$ 257.50 \$%-3,530.20
\$ 1,4000	\$ 112.0000	EACH	\$1,25	1		\$ ****100.0000		NO BID		#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!	EACH	\$1,24	1	\$ 1.2400	\$ 99.20
\$ 0.8800	\$ 70.4000	EACH	\$0.83	1	\$ \$ 0.8300	\$ 46:4000		NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID		#VALUE!	#VALUE!	EACH	\$0.74	1	\$ 0.7400	\$ 59.20
\$ 1.1900	\$ 1,785.0000	EACH	\$0.92	1		\$#1;380.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$1.38		\$ 1.3800	\$ 2,070.00
\$ 1.3300	\$ 66.5000 \$ 1.142.0000	BOX	\$1.30 \$11.40	30		\$ 47,140,0000	ļ	NO BID		#VALUE!	#VALUE!	 	NO BID	ļ	#VALUE!	#VALUE!	BAG	\$1.18	100	\$ 1.1800 \$ 0.4000	\$ 59.00
\$ 1,2800	\$ 1,142,0000	EACH	\$1.10	1 1		\$ 44.0000	 	NO BID		#VALUE!	#VALUE!	 	NO BID	 	#VALUE!	#VALUE!	EACH	\$1.07	100	\$ 0.4000	\$ 1,200.00
a maradiant	\$ - 71,153.59	Mary spirit	#PROPERTY	*****		\$ 97073,952.64	Notation of the	Secretary Con	a min to thomas Mi	for the following the	\$ 414,292.32	His Median Lit	200000	lacer will	A 400 200 100		- CON-		Mars and		\$*111,539,17
#VALUE!	#VALUE!	EACH	\$17.52	1	\$ 17.5200	\$ 876,0000		NO BID		#VALUE!	#VALUE!	EACH	\$17.95	1	·\$**17.9500	\$ \$42 897.5000	EACH	\$15.72	1	\$ 15.7200	\$ 786.00
				1		A F4 042 225							1	l .	1 1000	Mary Con					
\$ 7.4500	\$ 44,700,0000	EACH EACH	\$8.64 \$3.90		\$ 8.6400 \$ 3.9000	\$ 51,840.0000 \$ 3,900.0000	CASE	\$75.24 NO BID	36	\$ 2.0900 #VALUE!	\$12,540.0000 #VALUEI	EACH EACH	\$3.74 \$6.49	1		\$ 22,440,0000		\$13,91 \$7,00		\$ 13.9100 \$ 7.0000	
\$ 6.6200	\$ 3,972,0000		\$3.90			\$ 2,340,0000	 	NO BID		#VALUE!	#VALUE!	EACH	\$6.49	+ ;		*\$\\$3,894,0000		\$10.00		\$ 10.0000	
\$ 4.3400	\$ 4,340.0000	EACH	\$3.69		\$ 3.6900	\$ 3,690.0000	 	NO BID		#VALUE!	#VALUE!	EACH	\$4.76	i		\$#4,760,0000		\$3.70	<u> </u>	\$ 3.7000	
\$ 21.4200	\$ 8,568.0000	EACH	\$17,19	1	\$ 17.1900	\$ 6,876.0000		NO BID		#VALUE!	#VALUEI	EACH	\$23.68	1	\$10223,6800	4\$59,472.0000	CASE	\$171.90	10	\$ 17,1900	\$ 6,876.00
\$ 164.7200	\$ 1,976.6400		\$159.25		\$ 159.2500	\$ 1,911.0000	EACH	\$99.00	1 1 1	\$ 99.0000	\$ 1,188.0000	EACH	\$138.75			\$#1,665,0000		\$127.89		\$ 127.8900	
\$ 21.5600	\$ 150.9200	IPAIH	\$21.54	1	\$ 21.5400	\$ 150.7800	J	NO BID	L	#VALUE!	#VALUE!	PAIR	\$27.35	11_	1 5 M 27.3500	/\$****191,4500	HEATH	\$19.26	1	\$ 19.2600	\$ 134.82

ContiRerr Alleri	xtendediPrice (cal Ubage		UnitiOf Moreuro Cost	Quantity person Measure	Costi Per (ICII)	Extended Price	Unit Of Measure (le box) case)	Unit Of Measure Cost to	Quantily person Measure	Cost/Rer	Extended Price per Usage to	Unito:	Unit Of Measure Costs	Measure		Extended Price per Usage	Unition Meablic (GBO)	United Maritudo Cont	quantity Delt Measure	Configuration (included)	Extended Price per Usage
\$ 2.9800		PAIR	\$15.12		\$ 15.1200	\$ 181,4400		NO BID		#VALUE!	#VALUE!	PAIR	\$2.81			\$ 33,7200	EACH	\$2.65	_11	\$ 2.6500	\$ 31.80
\$ 21.3500		PAIR	\$21.25	_!_	\$ 21.2500	\$ 148.7500		NO BID		#VALUEI	#VALUE!	PAIR	\$27.08			\$600		\$19.09		\$ 19.0900	\$ 133.63
\$ 2.9800 S	35.7600 141.0000		\$6.48 \$4.63		\$ 6.4800 \$ 4.6300	\$ 77.7600 \$ 277.8000	CASE	NO BID \$167,40	60	#VALUE! \$ 2.7900	#VALUE! \$ 167,4000	EACH EACH	\$2.81 \$3.99			\$999#33:7200 \$907239:4000		\$2.65 \$4.80		\$ 2.6500 \$ 4.8000	\$ 31.80 \$ 288.00
#VALUE!		EACH	\$55.20		\$ 55.2000	\$ 552,0000		NO BID		#VALUE!	#VALUEI	EACH	\$76.07			\$ 760.7000		\$55.15		\$ 55,1500	\$ 551.50
#VALUE!	#VALUE!	EACH	\$55.20		\$ 55.2000	\$ 552,0000		NO BID		#VALUE!	#VALUE!	EACH	\$76.07			\$##760.7000		\$55.09		\$ 55.0900	\$ 550.90
				1																	
\$ 6.5900		EACH	\$8,25		\$8.2500	\$ 231.0000		\$6.39	1	\$ 6.3900		EACH	\$7,24			\$ 202,7200		\$6,74	1	\$ 6.7400	\$ 188.72
\$ 139.7700	139.7700		\$199.47		\$ 199.4700	\$ 199.4700		\$109.00		\$ 109.0000	\$ 109.0000		\$139.95			\$39,9500		\$135.66		\$ 135.6600	\$ 135.66
\$ 139.7700	\$ 139.7700 \$ 41,981:86		\$148.64			\$ 148.6400 \$ 650.25		\$109.00	1	\$ 109.0000	\$ 109.0000		\$139.95			\$ 139.9500		\$135.66		\$ 135.6600	\$ 135.66
\$ 5.1100	\$ 127.7500		\$4.10		\$ 4.1000		BOY	\$24.90			\$ 62,2500		\$3.94			\$ 98.5000		\$3.26		\$ 3.2600	\$ 1,322.93 \$ 81,50
\$ 3.7700	\$ 94.2500		\$2.80	+	\$ 2.8000			\$25.90			\$ 64,7500		\$3.39		\$ 3.3900	\$ 84.7500		\$3.26		\$ 3.3700	\$ 84,25
\$ 4,1200	\$ 103,0000		\$3.35	1	\$ 3.3500	\$ 83,7500		\$28.30			\$ \$ 70,7500	EACH	\$3,39		\$ 3.3900	\$ 84,7500		\$3,36		\$ 3,3600	\$ 84.00
\$ 1.8000	\$ 45.0000	PAIR	\$0.80	1	\$ 0.8000		BOX	\$8.50			\$14421:2500		\$0.99	1	\$ 0.9900	\$ 24.7500	EACH	\$0.78	1	\$ 0.7800	\$ 19.50
\$ 1.8000	\$ 45.0000		\$0.80		\$ 0.8000			\$8.50	10	\$#\$#0.8500	(\$季(\$21;2500)	EACH	\$0.99	1	\$ 0.9900	\$ 24.7500		\$1.05		\$ 1.0500	\$ 26.25
\$ 11.5500	\$ 138.6000	EACH	\$5.10	1	\$ 5.1000			\$33.45	10		\$\$\$\$40,1400	EACH	\$3.99		\$ 3.9900	\$ 47.8800		\$6.34		\$ 6.3400	\$ 76.08
\$ 4.4600	\$ 111.5000	EACH	\$1.20		\$ 1.2000	\$ 30.0000		\$8.90	10		\$29,4000	EACH	\$1.99		\$ 1.9900	\$ 49.7500		\$2.03		\$ 2.0300	\$ 50.75
\$ 0.3860 \$ 0.7000	\$ 23.1600 \$ 42.0000		\$0.39 \$0.70		\$ 0.3900 \$ 0.7000	\$ 23.4000 \$ 42.0000		\$4.90 \$16.56	10 24		\$44,4000	BOX EACH	\$4.19 \$0.79		\$ 0.4190 \$ 0.7900	\$ 25.1400 \$ 47.4000		\$3.60 \$0.84		\$ 0.3600 \$ 0.8400	\$ 21.60 \$ 50.40
	\$ 1,251,6000		\$16.45		\$ 16.4500			\$12.99	1		\$99155;8800	LAUN	NO BID		#VALUE	#VALUEI	EACH	\$69.05		\$ 69.0500	\$ 828.60
	\$ * × 12,227:50		建筑性额 设	Marie Car		\$ ****11,775.24		\$15 J. 106 185	a ractistics	delication was		ten in the	NO BID	\$6.00 miles		\$ 12,127,36				C 1 (ALKERY)	
\$ 1.2700	\$ 1,270.0000		\$1.70	1		\$ 441,700.0000		NO BID		#VALUE!	#VALUE!	EACH	\$2.39			\$ 2,390.0000		\$97.44	48	\$ 2.0300	\$ 2,030.00
\$ 1.2700	\$ 127.0000	EACH	\$1.80	1	\$441.8000	\$ \$ \$ 180.0000		NO BID		#VALUE!	#VALUE!	EACH	\$2.49	1	\$ 2.4900	\$ 249.0000	EACH	\$1.46	1	\$ 1.4600	\$ 146.00
#VALUE!	#VALUE!		NO BID			******		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$42.25	25	\$ 1.6900	\$ 507.00
\$ 0.0064	\$ 12,7000		\$1.40			\$ 28.0000		NO BID		#VALUE!	#VALUE!	BOX	\$1.40	100	4 010110	\$ 28.0000		\$2.00	200	\$ 0.0100	\$ 20.00
#VALUE!	#VALUEI	EACH	\$6.44			\$ 322,0000	-	NO BID		#VALUE!	#VALUEI	F4011	NO BID		#VALUEI	#VALUE!	CASE	\$216.00	20	\$ 10.8000	
\$ 1.3300 \$ 3.5822	\$ 6,650.0000 \$ 1,791.1000	A POV	\$1.29 \$34.50	100		\$ 450.0000		NO BID		#VALUE!	#VALUE!	EACH BOX	\$1.33			\$ 6,650.0000		\$666.00	200	Ψ 0.0000 1	\$ 16,650.00
\$ 0.3707	\$ 370,7000		\$34.50	100		\$ 344,5000		\$39.00	100	\$ 0.3900	\$ 390.0000	BOX	\$32.95 \$32.95			\$ 164.7500 \$ 329.5000		\$45.00 \$45.00	100	\$ 0.4500 \$ 0.4500	
\$ 0.2773	\$ 83.1750		\$0.45	1		\$ \$ 135,0000		NO BID	100	#VALUE!	#VALUE!	BOX	\$159.74			\$ 239,6100		\$0.31		\$ 0.3100	
\$ 1.3902	\$ 347.5500		\$142.28	50		\$ \$ 711,4000		NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID	- 200	#VALUE!	#VALUE!	CASE	\$134.00		\$ 2.6800	
\$ 22.3300	\$ 558.2500		\$22.50	1	\$ 22.5000	\$ \$ 562.5000	вох	\$286.80	12	\$ 23.9000	\$ 597.5000	EACH	\$23.60	1		\$ 590.0000		\$19.91		\$ 19.9100	
\$ 8.1000	\$ 162,0000		\$272.01	48		\$\$49113.3375		\$79.90	10	\$ 7.9900	\$ 159.8000	EACH	\$8.85			\$ 177.0000		\$10.81		\$ 10,8100	\$ 216.20
\$ 0.0660	\$ 396.0000		\$0.09	1		\$****540.0000	BOX	\$8.49	100	\$ 0.0849	\$ 509.4000	PACK	\$9.95			\$ 597.0000		\$8.00		\$ 0.0800	\$ 480.00
\$ 1.5301	\$ 459.0250		\$1.72	1		\$ 516.0000	***		A Constant	#DIV/0!	#DIV/0!	BOX	\$475.00	200		\$ 712.5000		\$2.16		\$ 2.1600	
\$ 2,4890	\$ 248,9000		\$6,18	N. Friday	\$ 6.1800	\$×#839,178.83 \$ 618,0000		\$29.50	10	\$ 2.9500	\$ 295,0000	EACH	\$2,42	724.77.144.1.1.121		\$****40,427.20 \$ 242,0000		\$35.05		nest design	
\$ 3.5240	\$ 352,4000		\$7.04	 	\$ 7.0400			\$29.50	10	\$ 2.9500	\$ 295,0000	EACH	\$2.42		\$ 2,7300	\$ 273,0000		\$39.90	5 5	\$***7.0100 \$***7.9800	
\$ 3.2070	\$ 320,7000		\$8.50	 	\$ 8,5000			\$31.00	10	\$ 3,1000	\$ 310,0000	EACH	\$2.98	1 i I	\$ 2,9800	\$ 298,0000		\$47,20		\$9,4400	
\$ 3.8100	\$ 762,0000		\$9.70	1	\$ 9.7000			\$35.00	10	\$ 3.5000	\$ 700.0000	EACH	\$3.88	1	\$ 3.8800	\$ 776.0000		\$54.10		\$ 10.8200	
\$ 4.4050	\$ 881.0000	EACH	\$10.90	1	\$ 10.9000	\$ 2,180.0000	BOX	\$42.00	10	\$ 4.2000	\$ 840.0000	EACH	\$4.30	1	\$ 4.3000			\$60.90		\$12:1800	
\$ 5.7900	\$ 69,4800		\$4.88		\$ 4.8800			\$5.65	1	\$ 5.6500	\$ 67.8000	EACH	\$6.99	1	\$ 6.9900			\$6.07	1	\$*\$6.0700	
\$ 5.7900	\$ 115.8000		\$4.88	1_1_	\$ 4.8800			\$5.65	1 1	\$ 5.6500	\$ 113.0000	EACH	\$6.99	1	Ψ 0.0000	\$ 139.8000		\$5.99		\$265,9900	
\$ 5.7900	\$ 173.7000		\$5.69	1 1	\$ 5.6900		BOX BOX	\$5.65	- ! -	\$ 5.6500	\$ 169.5000	EACH	\$5.85	1 1	\$ 5.8500	\$ 175.5000		\$6.02		\$996.0200	
\$ 5.7900 \$ 9.2400	\$ 173,7000 \$ 5,544,0000		\$6.15 \$8.94	 	\$ 6.1500 \$ 8.9400		IDOX	\$5.65 NO BID	- 	\$ 5.6500 #VALUE!	\$ 169.5000 #VALUEI	EACH	\$6.99 \$9.09		\$ 6.9900 \$ 9.0900	\$ 209,7000 \$ 5,454,0000		\$6.76 \$210.96	24	\$ \$46.7600	
\$ 9.2400	\$ 7,392,0000		\$8.94	 	\$ 8.9400	\$ 7,152.0000	\vdash	NO BID	├──	#VALUE!	#VALUE!	EACH	\$9.09	 		\$ 7,272,0000		\$210.96		\$ 8.7800	
#VALUE!	#VALUE!	PACK	\$15.40	1	\$ 15,4000	\$ 369.6000	 	NO BID		#VALUE!	#VALUE!		NO BID	 	#VALUE!	#VALUE!	CASE	\$105.90		\$2021,1800	
\$ 31.8800	\$ 765.1200		\$15.40	1	\$ 15.4000	\$ 369.6000		NO BID		#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE!	CASE	\$200.40		\$ \$ 20.0400	
\$ 0.1567	\$ 156.6667		\$0.42	3	\$ 0.1400			NO BID		#VALUE!	#VALUE!	BOX	\$4.70	30	\$ 0.1567			\$9.30		\$ 0.3100	\$ 310,00
			1	1								I					T			299 Cat 6	\$ 800.00
\$ 0.1493	\$ 1,194.6667	PACK	\$4.30	30	\$ 0.1433		L	NO BID		#VALUE!	#VALUE!	POUCH	\$4.30	40	\$ 0.1075	\$ 860,0000		\$3.00	30		
	\$ 1,765.0000		\$21.88	- !	\$ 21.8800	\$ 2,188.0000	 	\$199.00	20	\$ 9.9500	\$ 995.0000	EACH	\$19.24	1 1		\$ 1,924.0000		\$16.74	1	\$**16:7400	
\$ 13.5729			\$16.25 \$130.38	+-	\$ 16.2500 \$ 130.3800		├	\$199.00 \$69.00	20	\$ 9.9500	\$ 2,487.5000 \$ 5,175,0000	EACH	\$15.43 \$64.33	├ ┼┤		\$ 3,857.5000 \$ 4.824.7500		\$12.88 \$114.74	1	\$ 12,8800	\$96.3,220.00
	\$ 9,072.0000 \$ 822.4000		\$62.03	1-1	\$ 62.0300		 	\$31,99	1 -	\$ 31,9900	\$ 639.8000	EACH	\$41.37	1	\$ 64.3300			\$39.04	-		\$\$ \$8780.80
	\$ 13,867,0000		\$5.64	1	\$ 5.6400		 	NO BID	 	#VALUE!	#VALUE!	EACH	\$121.93	1 1		\$ 12.193.0000		\$2.21	- i		\$200221.00
	\$40.91,398.24					\$ 1,304.40	sample of the	Sale Street	MENT OF SHIP	GAS ASSESSMENT OF CHES		With the state	attende in	****		\$4 1,386.92			CHE LONG		\$###2,080.58
\$ 0.0383	\$ 38.3000	BOX	\$3.64	100	\$ 0.0364	\$ 36.4000		NO BID		#VALUE!	#VALUE!	BOX	\$3.64		\$ 0.0364	\$ 36.4000	BOX	\$4.00	100	\$ 0.0400	\$ 40.00
\$ 0.3400	\$ 17.0000	EACH	\$0.33	1	\$ 0.3300	\$ > 16.5000	BOX	\$15.69	100	\$ 0.1569	\$ 7.8450	EACH	\$0.07	1	\$ 0.0700	\$ 3.5000	BAG	\$1.20	10	\$ 0.1200	\$ 6.00

Cost Per d	Extended Price Micele Dando	Unit Off Main Unit (le box	Unition Measure Costs	Quantity Bieras Measure	CortPar light	Extended Price	Unit Of as Measure (le box s	Unition Measure Cost	Quantity per Measure	Coeli Por	Extended Pitesips: Unity	UnitiOf Marting UnitiOf	Unit Of Measure Cost	Quantity per Measure	CooliPer Illeffi	Exlended Erice per Usego	Unit o / (Class	Unition Mercur Corr	Guantly Per Measure	CooliPor Ligio	Extended Price perc Usage
\$ 4,9800	\$ 99,6000	EACH	\$5.07		CHARLES TO CHARLES	101 4000		\$2.79	1	\$ 2.7900	\$ 55.8000	EACH	\$6.27	1	\$ 6.2700		EACH	\$4,72	1	\$ 4.7200	\$ 94.40
\$_ 7.5800	\$ 227.4000	EACH	\$5.07	1		S 1521000		\$4.59	1	\$ 4.5900	\$ 137.7000	EACH	\$5.72	11	\$ 5.7200	\$ 171.6000	EACH	\$29.31	1	\$ 29.3100	\$ 879.30
\$ 172.6100	\$ 690.4400	EACH	\$169.50			\$1902678.0000 \$1902320.0000	BOX	\$89.00	800	\$ 89.0000 \$ 0.0621	\$ 356.0000 \$ 310.5625	EACH BOX	\$197.88 \$10.34		\$ 197.8800 \$ 0.0517	\$ 791.5200 \$ 258.5000		\$165.22 \$16.00		\$ 165.2200 \$ 0.0800	\$ 660.88 \$ 400.00
\$ 0.0651	\$ 325.5000 \$ **11.580.38	BOX	\$12.80			\$10000		\$49.69		\$ 0.0621	\$ 310.5625 ** #VALUE!	AN THE CH	300.34			\$ 238.5000			200	\$ 0.0500	
\$ 29.4125	\$ 352,9500	EACH	\$0.00		\$	\$ -		NO BID		#VALUE!	#VALUE!	EACH	\$18.70	1	\$ 18.7000	\$ 224,4000	ĒΑ	\$0.02	1	\$ 0.0200	\$ 0.24
	\$ 11,104.0000	BOX	\$19.48			\$ 3,116.8000		NO BID		#VALUE!	#VALUE!	BOX	\$21.64		* *******	₩ 0,10£14000		\$20.00	50	\$ 0.4000	\$ 3,200.00
\$ 8.5283 \$ 0.1682	\$ 119.3967 \$ 4.0368	BOX	\$7.47 \$17.25		\$ 7.4700 \$ 0.1725	\$ 104.5800 \$ 4.1400		NO BID		#VALUE!	#VALUEI	BOX BOX	\$8.46 \$17.13		\$ 8.4600 \$ 0.1713	\$ 118.4400 \$ 4.1112		\$7.99 \$21.00	150	\$ 7.9900 \$ 0.1400	\$ 111.86 \$ 3.36
	\$ * * 34,294,81	Sept affect the	Mary Marie			\$ ~~ 24,405.16	Andrew Transport	Million and and	g Control of		\$ 4 1,690.00					\$ 23,431.03					
\$ 44.3700	\$ 8,874.0000	PAIR	\$27.45	1	\$ 27.4500	\$ 5,490.0000		NO BID		#VALUE!	#VALUE!	вох	\$144.74	5	\$ 28.9480	\$ 5,789.6000	PAIR	\$24.82	1	\$ \$24,8200	
\$ 36.9100	\$ 14,764.0000	PAIR	\$21.32	11	\$ 21.3200	\$ 8,528.0000		NO BID		#VALUE!	#VALUE!	вох	\$218.80	10	\$ 21.8800	\$ 8,752.0000	PAIR	\$11.59	1		
	\$ 2,792.0000		\$9.68		4 - 0.0000	\$ 1,936.0000		NO BID		#VALUE!	#VALUEI	BOX	\$252.78			\$ 2,022.2400		\$10.81	1		\$\$#2,162.00
\$ 11.1700	\$ 2,234.0000 \$ 1,532.2800		\$8.15 \$272.00		\$ 8.1500 \$ 272.0000	\$ 1,630.0000 \$ 3,264.0000		NO BID		#VALUE!	#VALUE!	BOX	\$245.61 \$119.77	25	\$ 9.8244 \$ 119.7700	\$ 1,964.8800 \$ 1,437.2400		\$8.65 \$105.88	1		\$30.00
\$ 319.2400	\$ 1,915,4400	LAGIT	NO BID	'	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$277.42	1		\$ 1,664.5200	EACH	\$264.70	1		\$##1,588,20
\$ 51,8700	\$ 363.0900		\$43.88	1	\$ 43.8800	\$ 307.1600		NO BID		#VALUE!	#VALUEI	EACH	\$48.65	1	\$ 48.6500	\$ 340.5500	EACH	\$43.23			\$****302.61
\$ 1.8200	\$ 1,820.0000		\$3.25	1 建筑大家区	\$ 3.2500	\$ 3,250.0000	CASE	\$169.00	100	\$ 1.6900	\$ 1,690.0000	EACH	\$1.46	1 300 C 346	\$ 1.4600	\$ 1,460.0000	BOX	\$14.70	10		\$ 241,470.00
\$ 15.8100	\$ 9,628.41 \$ 395.2500		\$15.45	9792.00.00.485	\$ 15.4500	\$ 9,443.69 \$ 386.2500	Carrier 1979	NO BID	STATE OF SHIPPING	#VALUE!	\$ ** 8,925.16 #VALUE!	ВОХ	\$68.50	50	\$ 1,3700	\$ 8,885.19 \$ 34,2500	EACH	\$15.00	La milional		\$39,060.76
\$ 19.5900	\$ 156,7200		\$8.58	i	\$ 8.5800	\$ 68.6400		NO BID		#VALUE!	#VALUE!	BOX	\$90.64	10	\$ 9.0640	\$ 72.5120		\$8.61			*\$****** 68.88
\$ 19.5900	\$ 156,7200		\$8.58	1	\$ 8.5800	\$ 68.6400		NO BID		#VALUEI	#VALUEI	BOX	\$90.64	10	\$ 9.0640	\$ 72.5120		\$8.61			\$ 68.88
\$ 1.6500	\$ 660.0000		\$1.65		\$ 1.6500	\$ 660,0000	BOX BOX	\$82.40	50	\$ 1.6480	\$ 659,2000	BOX	\$80.45		\$ 1.6090	\$ 643.6000		\$79.00	50		\$3000 632,00
\$ 1.6500 \$ 1.6500	\$ 990.0000 \$ 2,475,0000	•	\$1.65 \$1.65	1 1	\$ 1.6500 \$ 1.6500	\$ 990.0000 \$ 2,475.0000	BOX	\$82.40 \$82.40	50 50	\$ 1.6480 \$ 1.6480	\$ 988.8000 \$ 2.472.0000		\$80.45 \$80.45	50 50	\$ 1.6090 \$ 1.6090	\$ 965.4000 \$ 2.413.5000		\$79.00 \$79.00			\$44.00
\$ 1.6500	\$ 2,475.0000	EACH	\$1.65	1	\$ 1.6500	\$ 2,475.0000	BOX	\$82.40	50	\$ 1.6480	\$ 2,472.0000	вох	\$80.45	50	\$ 1.6090	\$ 2,413.5000		\$79.00	50	\$ 1.5800	\$\$\$\$2,370.00
\$ 1.6500	\$ 1,320.0000	EACH	\$1.65	1	\$ 1.6500	\$ 1,320.0000	BOX	\$82.40	50	\$ 1.6480	\$ 1,318.4000	BOX	\$80.45	50	\$ 1.6090			\$1.58			\$###1;264.00
\$ 1.6500 \$ 0.0243	\$ 990.0000 \$ 9,7200	EACH BOX	\$1.65 \$2.54	100	\$ 1.6500 \$ 0.0254	\$ 990,0000 \$ 10,1600	BOX	\$82.40 \$6.49	100	\$ 1.6480 \$ 0.0649	\$ 988.8000 \$ 25.9600	BOX	\$80,45 \$4,33	50 100	\$ 1.6090 \$ 0.0433	\$ 965.4000 \$ 17,3200		\$79.00 \$4.00			\$348,00
\$ 0.0243	\$ 3,718,52	· NAME OF	\$2,54 \$2,64 \$66				Section 1	19.55	200 mg	45.37.44.454.454.454.454.454.454.454.454.454	\$ 23.5600	SERVICE SALES	\$4.00	発展がある	\$ 0.0433 \$25000000	\$ 28.561.31	A BOX	94.00 2065abas	Aller a sec	3 4 S S S S S S S S S S S S S S S S S S	
#VALUE!	#VALUE!	EACH	\$0.67	1	\$ 96,0.6700	\$ 67.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	EACH	\$0.97	1	\$ 0.9700	\$ 97.00
\$ 0.4500	\$ 45.0000		\$0.81	1		\$ #### 81:0000°		\$23.19	50	\$ 0.4638	\$ 46.3800	EACH	\$0.78	1	\$ 0.7800	\$ 78,0000	EACH	\$0.78	1	\$ 0.7800	
\$ 0.3600 \$ 14.3500	\$ 72.0000 \$ 172,2000		\$0.81 \$8.42	1		\$ \$664101.0400	CASE	\$21.09 NO BID	50	\$ 0.4218 #VALUE!	\$ 84.3600 #VALUE!	EACH EACH	\$0.78 \$16.61	1 1	\$ 0.7800 \$ 16.6100	\$ 156.0000 \$ 199.3200		\$53.50 \$11,60	50	\$ 1.0700 \$ 11.6000	
\$ 14.3500	\$ 172,2000		\$9.75			\$45-117.0000		NO BID		#VALUE!	#VALUE!	EACH	\$16.36	1	\$ 16.3600	\$ 196.3200		\$11.60	1	\$ 11.6000	\$ 139.20
\$ 11.4300	\$ 960.1200		\$7.95	1		\$\$\$\$\$67:8000		NO BID		#VALUE!	#VALUEI	EACH	\$10.88	1	\$ 10.8800	\$ 913.9200	EACH	\$8.75	1	\$ 8.7500	
#VALUE!	#VALUE!	EACH EACH	\$45.64	1		·多線3,423.0000 (5線4,422,7500	<u> </u>	NO BID		#VALUE!	#VALUE!	EACH	\$58.95 NO BID	1	\$ 58.9500 #VALUE!	\$ 4,421.2500 #VALUE!	 	NO BID		#VALUE! #VALUE!	#VALUE!
#VALUE!	#VALUE!	EACH	\$18.97 \$2.08	1 1		\$ \$65156.0000	 -	NO BID	-	#VALUE!	#VALUE!	 	NO BID	 	#VALUE!	#VALUE!	 	NO BID	 	#VALUE!	#VALUE!
#VALUE!	#VALUE!	EACH	\$2.09	1	\$242.0900:	·\$#34156.7500		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!
\$ 0.7600	\$ 76.0000		\$0.46	1		*\$ **** 46.0000	CASE	\$31.69	50	\$ 0.6338	\$ 63.3800	EACH	\$0.70	1	\$ 0.7000	\$ 70.0000		\$2.06	1	\$ 2.0600	\$ 206.00
\$ 0.3700 \$ 0.2500	\$ 55.5000 \$ 1.250,0000		\$0.24 \$0.24	1		*\$******36.0000 *\$***1:200.0000	CASE	\$14.29 \$12.39	50 50	\$ 0.2858 \$ 0.2478	\$ 42.8700 \$ 1.239.0000	EACH	\$0.34 \$0.29	1-1-	\$ 0.3400 \$ 0.2900	\$ 51.0000 \$ 1,450.0000		\$9.50	50 50	\$ 0.1900 \$ 0.1900	\$ 28.50 \$ 950.00
\$ 0.6900	\$ 69.0000		\$0.63	1		(\$	CASE	\$32.39		\$ 0.6478	\$ 64.7800		\$0.78	1	\$ 0.7800	\$ 78.0000		\$9.30	1	\$ 0.7100	
\$ 0.9400	\$ 47.0000	EACH	\$3.52	1	\$443.5200	\$ 666176.0000	CASE	\$33.39	50	\$ 0.6678	\$ 33.3900	EACH	\$1.63	1	\$ 1.6300	\$ 81.5000	EACH	\$4.40	1	\$ 4.4000	\$ 220.00
\$ 0.7300	\$ 109.5000		\$0.99	1		\$ 148.5000	CASE	\$32.39	50	\$ 0.6478		EACH	\$0.84	1	\$ 0.8400	\$ 126.0000		\$1.08	1	\$ 1.0800	
\$ 0.6900	\$ 690.0000		\$0.72	2302-234		\$ 44720.0000	CASE	\$32.19		\$ 0.6438	\$ 643.8000 \$ 50051,008.44	EACH	\$0.74	asar same	\$ 0.7400	\$ 740.0000		\$0.81	Transfer of	\$ 0.8100	
\$ 0.3700	\$ 7.4000		\$0.30		\$ 0.3000	\$ 6.0000		\$0.33	1		\$ 9900 6.6000		\$0.58		\$ 0.5800	\$ 11.6000		\$0.35	1	\$ 0.3500	
\$ 0.7400	\$ 8.8800	EACH	\$0.37	1	\$ 0.3700	\$ 4.4400	EACH	\$0.59	1	\$10年0.5900	1\$9007:0800	EACH	\$0.99	1	\$ 0.9900	\$ 11.8800		\$3.02	1	\$ 3.0200	\$ 36.24
\$ 12.7200	\$ 76.3200		\$15.15	1 1	\$ 15.1500	\$ 90.9000	EACH	\$11.29	1		\$36667:7400	EACH	\$11.70	1	\$ 11.7000	\$ 70.2000		\$11.36	1 1	\$ 11.3600	
#VALUE! \$ 21,1800	#VALUE! \$ 254,1600	EACH	\$35.46 \$21.88		\$ 35.4600 \$ 21.8800	\$ 212.7600 \$ 262,5600	EACH	\$22.99 \$15.99			\$ \$46137.9400 \$46191.8800		\$26.42 \$19.47		\$ 26.4200 \$ 19.4700	\$ 158.5200 \$ 233.6400		\$13.43 \$18.92	1 1	\$ 13.4300 \$ 18.9200	
#VALUE	#VALUE!	EACH	\$29.88		\$ 29.8800	\$ 298.8000	EACH	\$39.95			\$14399.5000		\$33.81	1	\$ 33.8100	\$ 338.1000	EACH	\$76.79	1	\$ 76.7900	
\$ 28.6800	\$ 172.0800	EACH	\$83.54		\$ 83.5400	7	EACH	\$32.95			(\$8419777000		\$39.18		\$ 39,1800	\$ 235.0800		\$68.33	1	\$ 68.3300	
#VALUEI	神心#VALUE! キャー・キャー・キャー・キャー・キャー・キャー・キャー・キャー・オールー・オールー・オールー・オールー・オールー・オールー・オールー・オー	EACH	SANCES IN		\$ 4.0500		Second Reduction	NO BID	A 17.7% (M)	#VALUE!	#VALUE!	Mark Company	NO BID	#D::34-25-554	#VALUE!	*\$*****1,255.08 #VALUE!	BOX	\$44,20			\$ 25,802.13
#VALUE!	I #VALUE!	I SACI	\$4.05	21	4.0300	\$ 324.0000	ــــــــــــــــــــــــــــــــــــــ	INO DID		#VALUE!	1 #VALUE!		I-40 BID		#VALUE!	T #VALUE!	190v		1	1 44FF 7.72UU	1.4~~~~ 333.00

CootiRor Item	rionded Price Palkitange	UnitiO/ Legytic (066)	COSI DITION	Quantity Person Measure	Cost Pere	Extended Price	Unit Of Massuro (le box	Uninor Messure Cost	Quantity per Measure	(IDI) (IDI)	E (Onded) (Price (per	UnitO) Mantilo (labo	Unition Measure Cost	Quantity	Cost,Rer	Extended Price per	Unit Of a	MULIO)	Quantity (90)	Good UP are	Extended a Price per a
WALLET	#VALUE	P TO Land	recent and				Case)		Company and		in the	(lb)b0:4 care)		Measure		UCIGO .		Cost	in the		Usage
#VALUE!	#VALUE!	BOX EACH	\$3.80 \$38.64		\$ 0.1520 \$ 38.6400			NO BID		#VALUEI #VALUEI	#VALUE!	 	NO BID		#VALUE!	#VALUE!	CR BOX	\$8.40 \$375.00	60 10		\$ \$60,042.80
#VALUE!		EACH	\$2.13		\$ 2.1300	\$ 170.4000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$18.30	10		\$##1;500.00 \$\$##\$146;40
#VALUE!	#VALUE!	EACH BOX	\$10.58 \$1.90		\$ 10.5800 \$ 0.1900	\$ 1,587.0000 \$ 15,2000		NO BID		#VALUE!	#VALUE!	201	NO BID		#VALUE!	#VALUE!	BOX	\$108.20	10	\$ 4610.8200	\$##1,623.00
#VALUE!	#VALUE!	BOTTLE	\$0.70		\$ 0.7000	\$ 70,0000	 	NO BID NO BID		#VALUE!	#VALUE!	BOX BOTTLE	\$1.96 \$0.88	10	\$ 0.1960 \$ 0.8800	\$ 15.6800	BOX BOTTLE	\$1.60			\$ 12.80
#VALUE!		EACH	\$10.58	1	\$ 10.5800	\$ 1,587.0000		NO BID		#VALUE!	#VALUE!	001122	NO BID		#VALUE!	#VALUE!	BOX	\$1.08 \$108.20			\$\$\$\$\$\$\$\$3.00 \$\$\$\$1,623.00
#VALUE!	#VALUE!	EACH EACH	\$9.34 \$25.64		\$ 9.3400 \$ 25.6400	\$ 186.8000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	BOX	\$52.00		\$ 5:2000	\$20000000
#VALUE!	#VALUE!	EACH	\$814.25		\$ 25.6400 \$ 814.2500		-	NO BID		#VALUE!	#VALUE!	TUBE	\$5.61 NO BID	11	\$ 5.6100 #VALUE!	\$ 112.2000 #VALUEI	EACH EACH	\$20.87	_ 1		\$ \$ 417.40
#VALUE!	#VALUE!	EACH	\$10.70		\$ 10.7000			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	PACK	\$828.28 \$118.80			\$ 株 5,797.96 \$ 株 1,782.00
#VALUE!	#VALUE!	EACH EACH	\$1.68		\$ 1.6800	\$ 504.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	вох	\$18.00			\$\$\$\$540.00
#VALUE!	#VALUE!	EACH	\$10.49 \$2,88		*	\$ 293.7200 \$ 864.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$10.14			\$6:16283.92
#VALUE!	#VALUE!	EACH	\$6,12		\$ 6.1200			NO BID		#VALUE!	#VALUE!	 	NO BID		#VALUE!	#VALUE!	BOX	\$64.25 \$54.50			\$###2,180.00
#VALUE!	#VALUE!	EACH	\$1.98		\$ 1.9800			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$33.00	25		\$ 264.00
#VALUE	#VALUE!	EACH PACK	\$151.98 \$3.85		\$ 151.9800 \$ 1.2833			NO BID		#VALUE!	#VALUE!	DACK	NO BID		#VALUE!	#VALUE!	EACH	\$121.32			\$\$\$\$3,033.00
#VALUE!	#VALUE!	BOX	\$5,11		\$ 0.1703			NO BID		#VALUE!	#VALUE!	PACK	\$12.99 NO BID	<u> </u>	\$ 12.9900 #VALUE!	\$ 1,039.2000 #VALUE!	PACK CR	\$4.65 \$3.00			\$9074124.00
#VALUE!	#VALUE!	EACH	\$1.93		\$ 1.9300	\$ 77.2000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$1.66			*\$ 66.40
#VALUE!	#VALUE!	EACH EACH	\$3.88 \$1.25		7 0.1700	\$ 232.8000 \$ 93.7500	 	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI	BOX	\$32.10	10	\$ × 3.2100	1\$,540*192.60
#VALUE!	#VALUE!	EACH	\$1.30		\$ 1,3000		 	NO BID		#VALUE!	#VALUE!	 	NO BID		#VALUE! #VALUE!	#VALUE!	BOX BOX	\$32.00 \$26.30			·\$**×* 96.00
#VALUE!	#VALUE	EACH	\$14.88	1	\$ 14.8800	\$ 1,190.4000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$151.80			\$5001;214.40
#VALUE!	#VALUE!	EACH BOTTLE	\$29.64 \$21.28		\$ 29.6400	\$ 296,4000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	TUBE	\$19.34	1		·\$x*xxx5193,40
#VALUE!	#VALUE!	EACH	\$1.58		\$ 21.2800 \$ 1.5800	\$ 851.2000 \$ 316.0000	 	NO BID		#VALUE!	#VALUE!	-	NO BID		#VALUE!	#VALUE!	PACK	\$42.00			\$38.4016.80
#VALUE!	#VALUE!	EACH	\$8.88			\$ 177.6000		NO BID		#VALUE!	#VALUE1	 	NO BID		#VALUE!	#VALUE!	BOX	\$12.70 \$314.60			\$#0#254.00 \$#65#314.60
#VALUE!	#VALUE!	EACH	\$9.12		\$ 9.1200	\$ 684.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	вох	\$132.00			\$ 396.00
#VALUE!	#VALUE!	EACH EACH	\$10.64 \$6.40		\$ 10.6400 \$ 6.4000	\$ 532.0000 \$ 640.0000	 	NO BID NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	PACK	\$77.30			\$***>386.50
#VALUE!	#VALUE!	EACH	\$5.80		\$ 5.8000			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	10X10ML PACK	\$138.20 \$134.25			\$ 402.75
#VALUE!		EACH	\$5.12		\$ 5.1200			NO BID		#VALUE	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$14.00			\$36-4112,00
\$ 0.0345	\$ 0.8280		\$5.70		\$ 5.7000	\$ 136.8000	CASE	\$82.19	1920		\$ 1.0274	TUB		Per Land		\$278.82					\$###416.82
\$ 0.1023	\$ 8.1840		\$10.50		\$ 0.1050		UNUL	NO BID	1920	#VALUE!	#VALUE!	CASE	\$5.45 \$95.74	160		\$ 400.8175 \$ 400.7.6592		\$8.00 \$14.00	160 200	\$ 0.0500 \$ 0.0700	
\$ 0.1023 \$	\$ 20.4600		\$10.50		\$ 0.1050			NO BID		#VALUE!	#VALUE!	CASE	\$95.74	1000	\$100.0957	\$ \$ 19.1480	BOX	\$14.00	2000		
\$ 0.1023 S	\$ 51.1500 \$ 40.9200		\$10.50 \$10.50		\$ 0.1050 \$ 0.1050		-	NO BID NO BID		#VALUE!	#VALUE!	CASE	\$95.74	1000		·\$海流年47.8700		\$14.00	200	\$ 0.0700	
\$ 0.0714	\$ 7.1420		\$3.93		\$ 0.1030		вох	\$3.49	50	#VALUE! \$ 0.0698	#VALUE! \$ 6,9800	CASE BOX	\$95.74 \$4.39	1000 50		\$ \$44038,2960 \$44448,7800		\$11,20 \$7,00	140 50	\$ 0.0800 \$ 0.1400	
\$ 1.5202		EACH	\$2.30		\$ 2.3000	\$ 64.4000		NO BID		#VALUE	#VALUE!	BOX	\$17.17	10		\$ 48.0760		\$7.60		\$ 0,1400 \$ 0.3800	
\$ 4.8900 S \$ 0.7080 S	\$ 68.4600 \$ 9.9120		\$4.25 \$16.10		\$ 4.2500 \$ 1.0733		BOX	\$38.90	10	\$ 3.8900	\$ 54.4600	KIT	\$4.19	1		\$10.0058.6600		\$6.12	1	\$ 6.1200	\$ 85.68
3.7000	0.0120		\$10.10	- 13	\$ 1.0733	\$ 15.0267	BOX	\$9.99	15	\$ 0.6660	\$ 9.3240	CASE	\$25.15	50		\$ 497.0420	CASE	\$26.50	50	\$ 0.5300	\$ 7.42
1		CASE OF			ł		i					1			22.63						
\$ 0.0460 5	\$ 0.6435 \$ 9.9120		\$18,25	150	\$ 0.1217	\$ 1,7033		\$7.00	100	\$ 0.0700	\$ 0.9800		\$4.58	50	\$ 0.0916	1.2824		\$7,00	100	\$ 0.0700	
\$ 4.4550 5		EACH	\$0.27 \$4,25		\$ 0.2700 \$ 4,2500		CASE	\$29.00 NO BID	200	\$ 0.1450 #VALUE!	\$ 4.0600 #VALUE!	BOX	\$89.95 NO BID	100		*\$%%**25:1860 ************************************		\$20.00		\$ 0.1000	
#VALUE!	#VALUE!	EACH	\$0.00	1	\$	\$ -		NO BID		#VALUE!	#VALUE!		NO BID			※AWVALUE!能		\$3.71 \$1.90		\$ 3.7100 \$ 1.9000	
\$ 3.1500 9	\$ 31.5000		\$2.50		\$ 2.5000			\$54.75	25	\$ 2.1900	\$ 21.9000	EACH	\$1.60	_1	\$1.6000	\$ 16.0000	EACH	\$0.80		\$ 0.8000	
\$ 0.3100	\$ 476710 \$ 3,1000		\$0.28		\$ 0,2800	\$ 470.80 \$ 2.8000		\$19,19	50	\$ 0.3838	\$ 294.35 \$ 3.8380	EACH	\$0.79	Mary State County		\$ 511:46			DENING		\$\$66,409.20
\$ 4.2400 5	\$ 42.4000	EACH	\$4.00		\$ 4,0000			\$4.89	1	\$ 4.8900	\$ 3.8380 \$ 48.9000	EACH	\$3.98		\$ 0.7900 \$ 3.9800		EACH EACH	\$0.80 \$3.86	1		\$\$\$\$\$\$\$\$\$\$\$8.60 \$\$\$\$\$\$\$\$38.60
\$ 6.1300 5	\$ 122.6000		\$5.48		\$ 5.4800			NO BID		#VALUE!	#VALUE!	EACH	\$6.18	10	\$ 0.6180	\$ 12.3600		\$0.74			\$ 14.80
\$ 1.7500 S	\$ _35.0000 \$ 35.0000		\$1.74 \$1.74		\$ 1.7400 \$ 1.7400			NO BID		#VALUE!	#VALUE!	EACH EACH	\$1.79	1	\$ 1.7900			\$2.01	1	\$ 2.0100	\$100.0040:20
\$ 0.1700	\$ 3.4000	EACH	\$0.41		\$ 0,4100		вох	\$7.99	50	#VALUE! \$ 0.1598	#VALUE! \$ 3.1960	EACH	\$1.79 \$0.48	1	\$ 1.7900 \$ 0.4800	\$ 35.8000	EACH	\$2.01 \$0.41	1 1		\$16.70 40.20 \$56.00 8.20
\$ 0.1700	\$ 3.4000	EACH	\$0.35		\$ 0.3500	\$ 7.0000	вох	\$7.99	50	\$ 0.1598	\$ 3.1960	EACH	\$0.21	1	\$ 0.2100		EACH	\$0.21	1		1\$10-4-0-4:20
\$ 0.1700 S	\$ 3.4000 \$ 3.4000	EACH EACH	\$0.35 \$0.35		\$ 0.3500 \$ 0.3500			\$7.99 \$7.99	50 50	\$ 0.1598		EACH	\$0.21	1	\$ 0.2100		EACH	\$0.21	1	\$ 地位0.2100	\$9400004.20
\$ 2.6300	\$ 157.8000		\$2.57		\$ 2.5700			\$129.90		\$ 0.1598 \$ 2.7063			\$0.21 \$4.89	1	\$ 0.2100 \$ 4.8900		EACH	\$0.21 \$2.89			\$\$****4.20 \$\$****173.40
														· · · · · ·	, - 1.0000	30.4000	27,011	<u> </u>		4 ALIA 4 0800	10420C 3501 (3.40)

Cost P		richel Pilat	d Price		Unicela Messuic Cosi		C		Extended Price per Usaga	Unit Of Measure (a box		Olimiliy Poli Massillo	(COS)(Pat) (ISI)	Extended Price (8) Uagga	Umitorio Voltado (D20)	Unit Ola Massure Cost	Quantily person Measure	Coat Por Jiam	Exicados) Priespel Usago	United Consults Italian	Unit Ol Cost	CULTURY 1921 ULTERIO	Contract	Extended X Price per Usage
\$ 0.7	500	\$ 4	15.0000	EACH	\$0.72	1	\$	0.7200	\$ 43.2000	CASE	\$34.19	50	\$ 0.683	\$ 41.0280	EACH_	\$0.73	1	\$ 0.7300	\$ 43.8000	EACH	\$0.74			
\$ 0.3	600	\$ 2	21.6000	EACH	\$0.37	1	\$	0.3700	\$ 22,2000	CASE	\$21.19	50	\$ 0.423			\$0.34	1	\$ 0.3400	\$ 20,4000	EACH	\$0.48		\$ \$ 0.4800 \$4	
46.40	5	\$4.0	111:92	最大的なから大	社会特别	ALC: NAME	-	表示 167	\$499- \$103.80	者を言うな	をななる。	Total Wife A	変えるない	# W##VALUEIM	と 一本	※ 一学 は	多少维沙米 。例	AL PROPERTY.	\$ · 3 本 125.96	美国的	2000年中央			83:10
\$ 3.2	900	\$ ε	55.8000	EACH	\$3.15	1	\$	3.1500	\$ 63,0000		NO BID		#VALUE!	#VALUE!	EACH	\$3.89	1	\$ 3.8900	\$ 77.8000	EACH	\$2.70	1	·\$柳雅2.7000 4\$%	6895#54:00
\$ 0.2	030	\$ 1	12.1800	EACH	\$0.20	1	\$	0.2000	\$ 12,0000		NO BID		#VALUE!	#VALUE!	BOX	\$10.09	100	\$ 0.1009	\$ 6.0540	BOX	\$6.50	_50	\$500.1300/15	
\$ 0.4	768	\$ 2	28.6080	BOX	\$10.50	25	\$	0.4200	\$ 25.2000		NO BID		#VALUE!	#VALUE!	BOX	\$13.45	25	\$ 0.5380	\$ 32.2800	BOX	\$16.00	50	(\$1000000)	
\$ 0.1	777	\$	5.3310	EACH	\$0.12	1	\$	0.1200	\$ 3.6000		NO BID		#VALUE!	#VALUE!	BOX	\$32.75	100	\$ 0.3275	\$ 9.8250	BOX	\$7.00	100	·\$640.0700 (\$8	***** 2.10
女 - 21 年後の	46.44	Sacrat	717.06	Potential Park	を と と と と と と と と と と と と と と と と と と と	the way	14	产品。但是社会	\$1:795.25	为为证证本心结	PARTITION PART	· · · · · · · · · · · · · · · · · · ·	电话程列性 对	* WALUEIS	本のできる	对于	新的物外的 與	是哲学公司的	\$ total 637.60	WHILE PARTY	神学を記録	ACCESS 19	THE PROPERTY IS	\$1,670.50×
\$ 0.4	112	\$ 1,64	44.8000	EACH	\$0.43	1	\$	0.4300	\$ 1,720.0000		NO BID		#VALUE!	#VALUE!	BOX	\$40.94	100	\$ 0.4094	\$ 1,637.6000	BOX	\$40.00	100	\$ 0.4000 \$	1,600.00
\$ 0.4	519	\$ 2	22.5925	BOX	\$46.97	100	\$	0.4697	\$ 23.4850		NO BID		#VALUE	#VALUE!		NO BID		#VALUEI	#VALUE!	BOX	\$44.00	100	\$ 0.4400 \$	22.00
\$ 0.4	816	\$ 2	24.0813	BOX	\$50.25	100	\$	0.5025	\$ 25.1250		NO BID		#VALUE	#VALUE!		NO BID		#VALUE!		BOX	\$47.00	100	\$ 0.4700 \$	23.50
\$ 0.5	116	\$ 2	25.5813	BOX	\$53.28	100	\$	0.5328	\$ 26,6400		NO BID	-	#VALUE!	#VALUEI	1	NO BID		#VALUE!	#VALUE!	BOX	\$50.00	100	\$ 0.5000 \$	25.00

ATTACHMENT "A" - TECHNICAL SPECIFICATIONS

- 1. The successful bidder shall extend these prices to any other county, or any agency within Nassau County, upon request of the using agency.
- 2. When there is a specific item description and / or specific brand requested no substitutes will be accepted.
- 3. Attached is the list of required items for agencies involved.
- 4. The bidders shall make all products available for review and approval upon request prior to acceptance of the bid or products.
- 5. Any backordered item shall be fulfilled within 14 calendar days from the date of the back-order; otherwise the backordered items will be canceled and procured from other sources.
- 6. Nassau County reserves the right to award the bid per item or as a group.
- 7. Bid prices shall be binding, with the county reserving the right to buy additional items for a period of two years.
- 8. No Latex containing product will be accepted without specific written agreement.
- 9. Unless otherwise specified, all equipment bid shall be engineered to avoid needle sticks or self sheathing. This includes all needles, IV Catheters, Scalpels.
- 10. All pre-filled medication shall be compliant with the Baxter Interlink administration system.
- 11. Any item(s) marked with "*" requires a sample be submitted for review.
- 12. Delivery of all items should be expected within 5 work days from receipt of order by the vendor. Any item(s) requiring longer than 5 days shall be communicated in written format to Tactical Support; Nassau County Fire Rescue.
- 13. All bid information shall be contained on the bid price sheet provided.

 Any explanation shall be made on separate paper with the item specified.
- 14. There is no requirement to bid on all items, nor is there minimum number of items required to be bid upon.
- 15. All pharmaceuticals will be awarded as a group bid. This will include lines 216 249.